## Notice for appointment of Regular / Rural Retail Outlet Dealerships

## Bharat Petroleum Corporation Ltd. proposes to appoint Retail Outlet dealers in Chattisgarh state, as per following

SI. No	Name of location	Revenue District	Type of RO	Estimate d	Category	Type of	Minimun M.)/Area	n Dimension			e to be d by the	Mode of Selection	Fixed Fee /	Security Deposit
				monthly Sales Potential #		Site*		M.). *	(m sq.	_	d by the licant	selection	Minimum Bid amount (Rs.	(Rs. Lakhs)
													Lakhs)	
1	2	3	4 Regular /	5 MS+HSD	6 SC, SC CC-1,	7 CC /	Front	8 Dep	Are	9a Estimate	9b Estimated	10 Draw of	11	12
			Rural	in Kls	SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1 , OBC PH, OPEN, OPEN CC-1, OPEN CC- 2, OPEN PH	DC / CFS	age	th	а	d working capital requirem ent for operation of RO (Rs in Lakhs)	fund required for developm ent of infrastruct ure at RO (Rs in Lakhs)	Lots / Bidding		
1	Village-Balsamund, Teshil-Bemetara	BEMETARA	RURAL	50	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
2	Village-Jaraud, Tehsil-Simga	BALODA BAZAR	RURAL	103	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
3	Village - Sirki Khurd, Tehsil - Pali	KORBA	RURAL	300	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
4	village-balud,tehsil- dantewada	DANTEWADA	RURAL	70	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
5	NH 153 ON EITHER SIDE	RAIGARH	REGULAR	175	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
6	Within 2 KM from Urga Chowk towards Bhaisma on either side of Urga - Hati Road	KORBA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
7	Within 5 KM from Pendridih Square towards Raigarh on either side of new bypass road (NH-49)	BILASPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
8	Between KM stone no. 48 and KM stone no. 53 on SH 15 ON EITHER SIDE	KORIA	REGULAR	230	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
9	within 2km from jawanga education city towards jagdalpur on either side of NH-63	DANTEWADA	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
10	within 4km from janpad panchyat office at bhairamgarh towards geedam on either side of NH-63	BIJAPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
11	Between KM stone no.91 & KM stone no.93 on NH130A on either side of the road	BILASPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
12	Between KM stone no. 550 and KM stone no. 553 on NH43		REGULAR	175	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
13	Ratanpur Bypass on either side of the road	BILASPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
14	within 2km from bharatmata chowk towards Raigarh on NH43 on either side	SURGUJA	REGULAR	260	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
15	geedam on either side of NH-63	BASTAR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
16	Between KM Stone no.261 and KM Stone no.269 on NH43	KORIA	REGULAR	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
17	on NH 43	KORIA	REGULAR	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
18	within 3km from benur police station towards kondagaon on either side of NH-130D	NARAYANPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
19	Within 3 KM from Major Dhyanchand Chowk towards Balco, Korba WML	KORBA	REGULAR	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
20	Between Vishvesvaraiya PG College Main Gate and Shastri chowk on Korba- Rajgamar Road	KORBA	REGULAR	130	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
21	WITHIN 3KM FROM ERRABORE TOWARDS SUKMA ON EITHER SIDE OF NH-30	SUKMA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
22	village Sonpur kalan, Tehsil Ambikapur	SURGUJA	RURAL	310	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
23	Village - Kirari, Tehsil - Akaltara	JANJGIR	RURAL	75	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
24	village- durgkondal, tehsil- durgkondal	KANKER	RURAL	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
25	Village - Borgaon on either side of keshkal- vishrampuri road, Tehsil- keshkal	KONDAGAON	RURAL	115	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
26 27	Within 2 Kms from Emami cement plant main gate towards Tilda on LHS Village - Karmanda, Tehsil - Janjgir	BALODA BAZAR JANJGIR	RURAL	275 100	OPEN OBC	DC DC	30 30	30	900	12	30	Draw of Lots Draw of	5	3
27				70		CFS		30		0	0	Lots	0	2
	Village - Boida, Tehsil - Pali	KORBA	RURAL		ST		30		900			Draw of Lots		
29 30	Village-Sakri, Tehsil-Bhatapara	BALODA BAZAR	RURAL	210	OPEN OPEN	DC DC	30	30	900	12	30	Draw of Lots	5	4
30	Village - Bandhakhar, Tehsil - Pali	KORBA	RURAL			DC			900	12		Draw of Lots	5	3
31	Village - Dudga, Tehsil - Pamgarh	JANJGIR	RURAL	100	OBC	DC	30	30	900		30	Draw of Lots		
32	Village - Jhabar, Tehsil - Katghora	KORBA	RURAL	190	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimate	Category	Туре	Minimum	n Dimensi	on (in	Financ	e to he	Mode of	Fixed	Security
5110	Name of recards	nevenue District	Type of the	d	category	of	M.)/Area	of the site		arrange	d by the	Selection	Fee /	Deposit
				monthly Sales		Site*		M.). *		appl	licant		Minimum Bid	(Rs. Lakhs)
				Potential									amount	Lukiisj
				#									(Rs. Lakhs)	
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC, SC CC-1, SC PH, ST, ST	CC /	Front age	Dep th	Are a	Estimate d	Estimated fund	Draw of Lots /		
					CC-1, ST PH, OBC, OBC CC-1	CFS	uge		ű	working	required	Bidding		
					, OBC PH,					capital requirem	for developm			
					OPEN, OPEN CC-1, OPEN CC-					ent for	ent of			
					2, OPEN PH					operation of RO	infrastruct ure at RO			
										(Rs in	(Rs in			
										Lakhs)	Lakhs)			
33	Village-Talam, Tehsil-Mungeli	MUNGELI	RURAL	150	SC	CFS	30	30	900	0	0	Draw of	0	2
34	WITHIN 2 KM FROM KANAHARPURI CHOWK	RAJNANDGAON	RURAL	80	OBC	DC	30	30	900	12	30	Lots Draw of	5	3
	TOWARDS SOMNI ON BYPASS ROAD, TEHSIL-											Lots		
35	RAJNANDGAON Village-Kumhari, Tehsil Kasdol	BALODA BAZAR	RURAL	48	OPEN CC 1	DC	30	30	900	12	30	Draw of	5	4
36	Village-Dhaurabhata, Tehsil-Bhatapara	BALODA BAZAR	RURAL	157	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
	-											Lots		
37	village- Bakal, Tehsil- Dongargaon	RAJNANDGAON	RURAL	80	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
38	Village - Bhelwa Tikra, Tehsil - Kota	BILASPUR	RURAL	80	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
39	Village-Ataria, Tehsil-Bemetara	BEMETARA	RURAL	155	OPEN	DC	30	30	900	12	30	Draw of	5	4
40	Village - Amsena, Tehsil - Takhatpur	BILASPUR	RURAL	105	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
41		DILACDIID	DUDAL	00		CFS	20	30		0		Lots	0	2
41	Village - Lakhram, Tehsil - Bilaspur	BILASPUR	RURAL	80	SC		30	30	900	U	0	Draw of Lots	U	
42	Village - Marwahi, Tehsil - Marwahi	BILASPUR	RURAL	100	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
43	Village-Bijabhat, Tehsil-Bhatapara	BALODA BAZAR	RURAL	154	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
44	Village - Parsada, Tehsil - Akaltara	JANJGIR	RURAL	80	OPEN CC 2	DC	30	30	900	12	30	Draw of	5	4
45	village- dudhali, tehsil- Dondilohara	BALOD	RURAL	40	OBC CC 1	DC	30	30	900	12	30	Lots Draw of	5	3
46	village Mahroom, Tehsil- Chhuriya	RAJNANDGAON	RURAL	61	ST CC 1	CFS	30	30	900	0	0	Lots Draw of	0	2
47	Village-Padkidih, Tehsil-Simga	BALODA BAZAR	RURAL	152	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
48	Village-Laudapara, Tehsil-Patharia	MUNGELI	RURAL	110	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
												Lots		
49	Village-Parsadih, Tehsil-Balodabazar	BALODA BAZAR	RURAL	140	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
50	Village - Khaira, Tehsil - Kota	BILASPUR	RURAL	70	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
51	VILLAGE- SAMBALPUR ON EITHER SIDE OF BHANUPRATAPPUR-PAKHANJUR ROAD, TEHSIL- BHANUPRATAPPUR	KANKER	RURAL	150	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
52	Gram-Kandarka, Tehsil-Berla	BEMETARA	RURAL	145	OPEN	DC	30	30	900	12	30	Draw of	5	4
53	VILLAGE- KALDABRI,TEHSIL- RAJNANDGAON	RAJNANDGAON	RURAL	75	OBC	DC	30	30	900	12	30	Lots Draw of	5	3
54	Village Dal Dal seoni,tehsil- raipur	RAIPUR	RURAL	140	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
55	Village Chindiya Tehsil- Ramanujnagar	SURAJPUR	RURAL	50	ST	CFS	30	30	900	0	0	Lots Draw of	0	2
												Lots		
56	WITHIN 2KM FROM UMDA CHOWK IN VILLAGE UMDA, TEHSIL- PATAN	DURG	RURAL	140	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
57	VILLAGE- BUNDELI, TEHSIL : CHUIKHADAN	RAJNANDGAON	RURAL	75	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
58	Village : Arsi Tola, Tehsil- Dongargaon	RAJNANDGAON	RURAL	60	OPEN CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
59	Village Nawapur, Tehsil- Lundra	SURGUJA	RURAL	50	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
60	village- nari on either side of nayapara- kurud bypass road, tehsil- kurud	DHAMTARI	RURAL	80	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
61	VILLAGE-GOTATOLA, TEHSIL- MOHALLA	RAJNANDGAON	RURAL	140	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
62	Village-Khedigaon, Tehsil-Pithora	MAHASAMUND	RURAL	74	OPEN	DC	30	30	900	12	30	Draw of	5	4
63	Vill: Sirpur, Tehsil : Mahasamund	MAHASAMUND	RURAL	50	OBC	DC	30	30	900	12	30	Lots Draw of Lots	5	3
64	village Ketka Tehsil- Surajpur	SURAJPUR	RURAL	50	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
65	VILLAGE KRISHNAPUR, TEHSIL RAMANUJNAGAR	SURAJPUR	RURAL	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
66	Village-Baldakachar, Tehsil-Kasdol	BALODA BAZAR	RURAL	132	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
67	VILLAGE - PAILIMETA ON SALHEWARA ROAD,	RAJNANDGAON	RURAL	85	OBC	DC	30	30	900	12	30	Draw of	5	3
68	TEHSIL- CHHUIKHADAN village Jodhpur Tehsil Kusumi	BALRAMPUR	RURAL	65	ST	CFS	30	30	900	0	0	Lots Draw of	0	2
<u></u>							<u> </u>	<u> </u>				Lots		

SI. No	Name of location	Revenue District	Type of RO	Estimate	Category	Type	Minimum			Financ		Mode of	Fixed	Security
1				d		of	M.)/Area o		(in Sq.		d by the	Selection	Fee /	Deposit
				monthly Sales		Site*		M.). *		appl	licant		Minimum Bid	(Rs. Lakhs)
				Potential									amount	Lukiisj
				#									(Rs. Lakhs)	
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC, SC CC-1, SC PH, ST, ST CC-1,	CC/ DC/	Front age	Dep th	Are a	Estimate d	Estimated fund	Draw of Lots /		
					ST PH, OBC, OBC CC-1, OBC PH,	CFS	uge			working	required	Bidding		
					OPEN, OPEN CC- 1, OPEN CC-2,					capital requirem	for developm			
					OPEN PH					ent for	ent of			
										operation of RO	infrastruct ure at RO			
										(Rs in	(Rs in			
										Lakhs)	Lakhs)			
69 Villa	age- Biranpur, Tehsil-Saja	BEMETARA	RURAL	84	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
70 Villa	age-Nipania, Tehsil-Bhatapara	BALODA BAZAR	RURAL	130	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
71 VILL	LAGE - KUMARDA,TEHSIL: CHHURIA	RAJNANDGAON	RURAL	70	OBC PH	DC	30	30	900	12	30	Draw of Lots	5	3
72 Villa	age-Pipariya, Tehsil-Kawardha	KAWARDHA	RURAL	82	ST PH	CFS	30	30	900	0	0	Draw of Lots	0	2
73 villa	age- amleshwar, Tehsil- Patan	DURG	RURAL	65	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
74 villa	•	DURG	RURAL	125	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
		BALRAMPUR	RURAL	50	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
76 Villa	age-Raseda, Tehsil-Balodabazar	BALODA BAZAR	RURAL	125	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
77 Villa	age - Silpahri, Tehsil - Bilha	BILASPUR	RURAL	85	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
78 Villa	age-Sonadih, Tehsil Balodabazar	BALODA BAZAR	RURAL	125	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
79 Villa	age Amandon Tehsil Pratappur	SURAJPUR	RURAL	90	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
80 VILL	LAGE-GADHULA, TEHSIL- RAJNANDGAON	RAJNANDGAON	RURAL	70	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
81 villa	age Gopalpur Tehsil Rajpur	BALRAMPUR	RURAL	50	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
82 Villa	age - Jenjara, Tehsil - Katghora	KORBA	RURAL	60	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
	THIN 5 KM FROM AMLIDIH PANITANKI OWK ON KHAIRAGARH - LANJI ROAD	RAJNANDGAON	RURAL	120	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
84 villa	age-pahandor, Tehsil-patan	DURG	RURAL	65	OPEN CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
85 Villa	age - Umreli, Tehsil - Kartala	KORBA	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
86 Villa	age Kalikapur Tehsil- Ramchandrapur	BALRAMPUR	RURAL	65	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
	age-Neurgaon Khurd, Tehsil-Bodla	KAWARDHA	RURAL	115	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	·	BALODA BAZAR	RURAL	115	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
(Gau	aurella -2)	BILASPUR	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
		BALODA BAZAR	RURAL	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
NAY	YAPARA NEW BYPASS ROAD, TEHSIL- KURUD	DHAMTARI	RURAL	110	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
CHA	AMPARAN-PARAGAON ROAD	RAIPUR	RURAL	75	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
TOV	WARDS CHICHOLA, TEHSIL- CHHURIYA	RAJNANDGAON	RURAL	105	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
		BILASPUR	RURAL	80	OBC CC 1	DC	30	30	900	12	30	Draw of Lots	5	3
		RAJNANDGAON	RURAL	60	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	2
	age Tadola, Tehsil Pussore age - Aramsahi, Tehsil - Masturi	RAIGARH BILASPUR	RURAL RURAL	100 60	OPEN PH OBC	CC DC	30 30	30 30	900	12 12	5 30	Bidding Draw of	10 5	3
98 VILL	LAGE JAROUD,TEHSIL AARANG	RAIPUR	RURAL	70	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
99 villa	age Pachawal Tehsil- Ramchandrapur	BALRAMPUR	RURAL	50	ST	CFS	30	30	900	0	0	Draw of	0	2
100 Villa	age-Mopka, Tehsil-Bhatapara	BALODA BAZAR	RURAL	104	OPEN	DC	30	30	900	12	30	Lots Draw of Lots	5	4
101 Villa	age - Choria, Tehsil - Bamhindih	JANJGIR	RURAL	50	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
	TWEEN NAGPURA BUS STAND CHOWK TO TNI CHOWK ON NAGPURA -DURG ROAD	DURG	RURAL	65	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
103 Villa	age - Pipra, Tehsil - Bilaspur	BILASPUR	RURAL	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
		BALRAMPUR	RURAL	50	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
105 villa	age Dhaba; Tehsil: Dongargaon	RAJNANDGAON	RURAL	55	OBC	DC	30	30	900	12	30	Draw of Lots	5	3

SI. No	Name of location	Revenue District	Type of RO	Estimate	Category	Туре	Minimum	n Dimensi	on (in	Financ	e to be	Mode of	Fixed	Security
				d monthly		of Site*	M.)/Area	of the site M.). *	(in Sq.		d by the licant	Selection	Fee / Minimum	Deposit (Rs.
				Sales Potential									Bid amount	Lakhs)
				#									(Rs. Lakhs)	
1	2	3	4 Pagular /	5 MC-HCD	6 SC, SC CC-1,	7 CC /	Front	8	Aro	9a Estimato	9b	10 Draw of	11	12
			Regular / Rural	MS+HSD in Kls	SC PH, ST, ST	DC/	Front age	Dep th	Are a	Estimate d	Estimated fund	Lots /		
					CC-1, ST PH, OBC, OBC CC-1	CFS				working capital	required for	Bidding		
					, OBC PH, OPEN, OPEN					requirem ent for	developm ent of			
					CC-1, OPEN CC- 2, OPEN PH					operation of RO	infrastruct ure at RO			
										(Rs in	(Rs in			
100	WILLAGE BASSIA TSUSH CHUNDA	CARIARANA	BUBAL	40	ORFN	D.C.	20	20	000	Lakhs)	Lakhs)	5	-	
106	VILLAGE- RASELA, TEHSIL- CHHURA	GARIABAND	RURAL	40	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
107	Village-Jamkor, Tehsil- Mungeli	MUNGELI	RURAL	94	OPEN CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
108	village- godela, tehsil- gunderdehi	BALOD	RURAL	50	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
109	VILLAGE- DIGHWADI,TEHSIL : MANPUR	RAJNANDGAON	RURAL	60	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
110	Village-Birendra Nagar, Tehsil-Kawardha	KAWARDHA	RURAL	102	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
111	Village - Kotgarh, Tehsil - Akaltara	JANJGIR	RURAL	70	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
112	VILLAGE- BANDHA BAZAAR ,TEHSIL:AMBAGARH CHOWKI	RAJNANDGAON	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
113	Village Ramnagar Tehsil- Kusumi	BALRAMPUR	RURAL	50	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
114	Village - Tusma, Tehsil - Nawagarh	JANJGIR	RURAL	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
115	Within 2 KM from Malhar Bus Stand towards Chilhati on Malhar -Chilahti Road	BILASPUR	RURAL	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
116	Village - Chilhati, Tehsil- Ambagarh Chowki	RAJNANDGAON	RURAL	63	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
117	Village - Maheshpur, Tehsil - Katghora	KORBA	RURAL	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
118	VILLAGE PENDARI TEHSIL WADRAFNAGAR	BALRAMPUR	RURAL	85	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
119	VILLAGE GODADIH ON SELUD-JAMGAO ROAD, TEHSIL- PATAN	DURG	RURAL	65	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
120	Village-Datrenga, Tehsil-Bhatapara	BALODA BAZAR	RURAL	110	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
121	Village -Naraibodh, Dist. Korba	KORBA	RURAL	225	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
122	Village - Nandeli, Tehsil - Jaijaipur	JANJGIR	RURAL	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
123	Village-Surajpura, Tehsil-Bhatapara	BALODA BAZAR	RURAL	110	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
124	WITHIN 3 KMS FROM JJ SEEDS FARM CO.MAIN GATE ON AHIWARA-BERLA ROAD	DURG	RURAL	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
125	Village-Rengakhar kalan, Tehsil-Kawardha	KAWARDHA	RURAL	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
126	Village Jashpur nagar, Tehsil Jashpur	JASHPUR	RURAL	50	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
127	Village-Kholwa, Tehsil-Bhatapara	BALODA BAZAR	RURAL	97	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
128	Village-Sukda, Tehsil-Kasdol	BALODA BAZAR	RURAL	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
129	VILLAGE AMALORI, TEHSIL- PATAN	DURG	RURAL	95	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
130	VILLAGE- VISHRAMPURI, TEHSIL- BADE RAJPUR	KONDAGAON	RURAL	70	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
131	Village - Belgahana, Tehsil - Kota	BILASPUR	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
132	Village-Pauni, Tehsil Bilaigarh	BALODA BAZAR	RURAL	95	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
133	Village - Jamnipali, Tehsil - Kartala	KORBA	RURAL	100	OPEN CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
134	Village - Mudhipar, Tehsil - Bilha	BILASPUR	RURAL	100	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
135	WITHIN 2KM FROM CHONDI CHOWK TOWARDS BHANPURI ON LOHANDIGUDA- BHANPURI ROAD,	BASTAR	RURAL	70	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
136	TEHSIL- LOHANDIGUDA VILLAGE KALYANPUR TEHSIL SURAJPUR	SURAJPUR	RURAL	90	OPEN	DC	30	30	900	12	30	Draw of	5	4
137	Village-Chandnu, Tehsil-Bemetara	BEMETARA	RURAL	60	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
138	VILLAGE- GAINDATOLA, TEHSIL- CHHURIYA	RAJNANDGAON	RURAL	80	OBC	DC	30	30	900	12	30	Lots Draw of	5	3
139	VILLAGE-RANITARAI, TEHSIL PATAN	DURG	RURAL	65	ST	CFS	30	30	900	0	0	Lots Draw of	0	2
140	On Balodabazar bypass road on either side	BALODA BAZAR	RURAL	205	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
141	village- choknar, tehsil- Bakawand	BASTAR	RURAL	90	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
141		UNU INIT	HUNAL	30	OF LIN	DC	30	30	300	14	30	Lots	ر	7

SI. No	Name of location	Revenue District	Type of RO	Estimate	Category	Туре		n Dimensi			e to be	Mode of	Fixed	Security
				d monthly		of Site*		of the site M.). *	(in Sq.	_	d by the licant	Selection	Fee / Minimum	Deposit (Rs.
				Sales Potential									Bid amount	Lakhs)
				#									(Rs. Lakhs)	
1	2	3	4 Regular /	5 MCLUCD	6 SC, SC CC-1,	7 CC /	Front	8 Don	Aro	9a Estimato	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC PH, ST, ST CC-1, ST PH,	DC/	Front age	Dep th	Are a	Estimate d	fund	Draw of Lots /		
					OBC, OBC CC-1	CFS				working capital	required for	Bidding		
					, OBC PH, OPEN, OPEN CC-1, OPEN CC-					requirem ent for	developm ent of			
					2, OPEN PH					operation of RO	infrastruct ure at RO			
										(Rs in Lakhs)	(Rs in Lakhs)			
142	VILLAGE- MOHANDI, TEHSIL- RAJNANDGAON	RAJNANDGAON	RURAL	71	OBC	DC	30	30	900	12	30	Danuar	5	3
												Draw of Lots		
143	WITHIN 5 KMS FROM ATAL CHOWK TOWARDS RISAMA, TEHSIL- DURG	DURG	RURAL	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
144	Village - Tiwarta, Dist. Korba	KORBA	RURAL	200	ST CC 1	CFS	30	30	900	0	0	Draw of Lots	0	2
145	Village - Pisaud, Tehsil - Baloda	JANJGIR	RURAL	100	OPEN CC 2	DC	30	30	900	12	30	Draw of Lots	5	4
146	VILLAGE- JAALBANDHA, TEHSIL- KHAIRAGARH	RAJNANDGAON	RURAL	65	OBC CC 1	DC	30	30	900	12	30	Draw of Lots	5	3
147	village- Hathkhoj, tehsil- Rajim	GARIABAND	RURAL	70	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
148	village-Dhanora, tehsil-Keshkal	KONDAGAON	RURAL	75	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
149	Village Mohara on Thelkadih-Dongargarh Road, Tehsil- Gurur	RAJNANDGAON	RURAL	65	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
150	Village-Sardha, Tehsil-Berla	BEMETARA	RURAL	110	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
151	Village - Jarve (B), Tehsil - Baloda	JANJGIR	RURAL	80	OPEN	DC	30	30	900	12	30	Draw of	5	4
152	ON PATHARIA NANDINI ROAD, TEHSIL- DHAMDHA	DURG	RURAL	90	ОВС	DC	30	30	900	12	30	Lots Draw of	5	3
153	VILLAGE- CHILHATI, TEHSIL: AMBAGARH CHOWKI	RAJNANDGAON	RURAL	70	ST	CFS	30	30	900	0	0	Lots Draw of	0	2
154	Village- Bakal, Tehsil- Rajnandgaon	RAJNANDGAON	RURAL	50	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
155	VILLAGE-SONPAIRI, TEHSIL-RAIPUR	RAIPUR	RURAL	70	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
156	VILLAGE KUHERA, TEHSIL AARANG	RAIPUR	RURAL	95	OBC	DC	30	30	900	12	30	Lots Draw of	5	3
157	village Janakpur, Tehsil Wadraffnagar	BALRAMPUR	RURAL	70	ST	CFS	30	30	900	0	0	Lots Draw of	0	2
158	Village - Ameri, Tehsil - Takhatpur	BILASPUR	RURAL	80	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
159	Village - Pondishankar, Tehsil - Champa	JANJGIR	RURAL	70	OPEN CC 1	DC	30	30	900	12	30	Lots Draw of	5	4
160	VILLAGE BUDAR, TEHSIL BAIKUNTHPUR	KORIA	RURAL	60	OBC	DC	30	30	900	12	30	Lots Draw of	5	3
161		GARIABAND	RURAL	70	SC	CFS	30	30	900	0	0	Lots	0	2
	village- mudagaon, tehsil- Chhura											Draw of Lots		
162	VILLAGE-HATHBAND,TEHSIL RAIPUR	RAIPUR	RURAL	65	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
163	village kusmi, Tehsil Kusmi	BALRAMPUR	RURAL	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
164	Village - Nagoi, Tehsil - Bilaspur	BILASPUR	RURAL	60	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
165	Village-Hadahuli, Tehsil-Thankhamariya	BEMETARA	RURAL	105	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
166	VILLAGE RATANPUR, TEHSIL MANENDRAGARH	KORIA	RURAL	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
167	VILLAGE GAITRA, TEHSIL TILDA	RAIPUR	RURAL	70	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
168	VILLAGE KOTRAPALI, TEHSIL RAIGARH	RAIGARH	RURAL	90	ОВС	DC	30	30	900	12	30	Draw of Lots	5	3
169	village Janakpur , Tehsil Bharatpur	KORIA	RURAL	75	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
170	VILLAGE SAMODA,TEHSIL AARANG	RAIPUR	RURAL	90	ST PH	CFS	30	30	900	0	0	Draw of Lots	0	2
171	Village - Devri Khurd, Tehsil - Bilha	BILASPUR	RURAL	100	OBC PH	DC	30	30	900	12	30	Draw of	5	3
172	village Sakalo Tehsil Ambikapur	SURGUJA	RURAL	70	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
173	Village Khala Tehsil Ambikapur	SURGUJA	RURAL	70	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
174	VILLAGE BHELAI KHURD, TEHSIL RAJPUR	BALRAMPUR	RURAL	118	OBC	DC	30	30	900	12	30	Lots Draw of	5	3
175	village Arra, Tehsil Jashpur	JASHPUR	RURAL	100	ST	CFS	30	30	900	0	0	Lots Draw of	0	2
176	Village - Nandeli, Tehsil - Sakti	JANJGIR	RURAL	70	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
177	Village - Mohbhattha, Tehsil - Bilha	BILASPUR	RURAL	90	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
178	Village-Phikari, Tehsil-Patan	DURG	RURAL	125	OBC	DC	30	30	900	12	30	Lots Draw of	5	3
	<u> </u>	-				l						Lots		

SI. No	Name of location	Revenue District	Type of RO	Estimate	Category	Туре	Minimum	n Dimensi	on (in	Financ	e to be	Mode of	Fixed	Security
				d monthly		of Site*	M.)/Area	of the site M.). *	(in Sq.		d by the licant	Selection	Fee / Minimum	Deposit (Rs.
				Sales Potential				•					Bid amount	Lakhs)
				#									(Rs.	
1	2	3	4	5	6	7		8		9a	9b	10	Lakhs) 11	12
			Regular / Rural	MS+HSD in Kls	SC, SC CC-1, SC PH, ST, ST	CC/ DC/	Front age	Dep th	Are a	Estimate d	Estimated fund	Draw of Lots /		
					CC-1, ST PH, OBC, OBC CC-1	CFS				working capital	required for	Bidding		
					, OBC PH, OPEN, OPEN					requirem ent for	developm ent of			
					CC-1, OPEN CC- 2, OPEN PH					operation	infrastruct			
										of RO (Rs in	ure at RO (Rs in			
										Lakhs)	Lakhs)			
179	VILLAGE SHEKHARPUR, TEHSIL PATTHALGAON	JASHPUR	RURAL	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
180	Transport Nagar, Parsada	BILASPUR	RURAL	130	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
181	Village-Karmada, Tehsil-Balodabazar	BALODA BAZAR	RURAL	107	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
182	Village- Bade Sajapali, Tehsil- Basna	MAHASAMUND	RURAL	105	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
183	Village-Bijabhat, Tehsil-Bemetara	BEMETARA	RURAL	140	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
184	Village - Raliya, Tehsil - Katghora	KORBA	RURAL	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
185	VILLAGE MANI, TEHSIL PRATAPPUR	SURGUJA	RURAL	100	OPEN CC 1	DC	30	30	900	12	30	Draw of	5	4
186	VILLAGE MAHGAI, TEHSIL PREMNAGAR	SURAJPUR	RURAL	100	OBC	DC	30	30	900	12	30	Lots Draw of	5	3
187	Village-Pausari, Tehsil-Bhatapara	BALODA BAZAR	RURAL	102	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
188	Village-Dhawai, Tehsil-Balodabazar	BALODA BAZAR	RURAL	107	ST	CFS	30	30	900	0	0	Lots Draw of	0	2
189	Village - Kosmanda, Tehsil - Champa	JANJGIR	RURAL	80	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
190	VILLAGE NETNAGAR TEHSIL PUSSORE	RAIGARH	RURAL	80	OBC	DC	30	30	900	12	30	Lots Draw of	5	3
191	VILLAGE MENDRAKALA, TEHSIL AMBIKAPUR	SURGUJA	RURAL	80	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
192	VILLAGE TAMTA TEHSIL PATHALGAON	JASHPUR	RURAL	80	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
193	VILLAGE SONTARAI TEHSIL SITAPUR	SURGUJA	RURAL	80	ST CC 1	CFS	30	30	900	0	0	Lots Draw of	0	2
194	village Bhelwadih Tehsil Kharsia	RAIGARH	RURAL	80	OBC CC 1	DC	30	30	900	12	30	Lots Draw of	5	3
195	VILLAGE- SONEPUR, TEHSIL- NARAYAPUR	NARAYANPUR	RURAL	80	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
196	Village - Bonkombo, Tehsil - Kunkuri	JASHPUR	RURAL	80	OPEN PH	DC	30	30	900	12	30	Lots Draw of	5	4
197	Village - Daija, Tehsil - Takhatpur	BILASPUR	RURAL	80	ST	CFS	30	30	900	0	0	Lots Draw of	0	2
198		JANJGIR	RURAL	60	OBC	DC	30	30	900	12	30	Lots	5	3
	Village - Salkhan, Tehsil - Nawagarh	KAWARDHA										Draw of Lots Draw of		
199	Village-Jamuniya, Tehsil-Kawardha		RURAL	75	OPEN	DC	30	30	900	12	30	Lots	5	4
200	village bachara, Tehsil Khadgawan	KORIA	RURAL	75	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
	VILLAGE- BANDE, TEHSIL- PAKHANJORE	KANKER	RURAL	75	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
202	Village - Chapora, Tehsil - Malkharoda	JANJGIR	RURAL	70	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
203	Village - Kotmisunar, Tehsil - Akaltara	JANJGIR	RURAL	70	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
204	Village - Chhatauna, Tehsil - Takhatpur	BILASPUR	RURAL	105	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
205	Village - Nawagaon, Tehsil - Kota	BILASPUR	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
206	Village - Nirtoo, Tehsil - Takhatpur	BILASPUR	RURAL	70	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
207	Village- Jawali, Tehsil - Katghora	KORBA	RURAL	155	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
208	Village - Pondi, Tehsil - Pali	KORBA	RURAL	70	OPEN CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
209	Village - Thathari, Tehsil - Jaijaipur	JANJGIR	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
210	VILLAGE PANDRAPAT TEHSIL BAGICHA	JASHPUR	RURAL	70	SC	CFS	30	30	900	0	0	Draw of	0	2
211	Village - Fadahakhar, Tehsil - Bilaspur	BILASPUR	RURAL	70	OPEN	DC	30	30	900	12	30	Draw of	5	4
212	Village - Dhengurdih, Tehsil - Korba	KORBA	RURAL	60	OBC	DC	30	30	900	12	30	Lots Draw of	5	3
213	Village - Kachhar, Tehsil - Bilaspur	BILASPUR	RURAL	85	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
214	Village - Budbud, Tehsil - Pali	KORBA	RURAL	80	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
215	village Kelhari, Tehsil Manendragarh	KORIA	RURAL	60	SC	CFS	30	30	900	0	0	Lots Draw of	0	2
												Lots		

SI. No	Name of location	Revenue District	Type of RO	Estimate	Category	Туре		n Dimensi			e to be	Mode of	Fixed	Security
				d monthly		of Site*	M.)/Area	of the site M.). *	(in Sq.		d by the licant	Selection	Fee / Minimum	Deposit (Rs.
				Sales Potential									Bid amount	Lakhs)
				#									(Rs. Lakhs)	
1	2	3	4 Regular /	5 MS+HSD	6 SC, SC CC-1,	7 CC /	Front	8 Dep	Are	9a Estimate	9b Estimated	10 Draw of	11	12
			Rural	in Kls	SC PH, ST, ST CC-1, ST PH,	DC /	age	th	а	d working	fund required	Lots / Bidding		
					OBC, OBC CC-1 , OBC PH,	Cr3				capital	for developm	bluullig		
					OPEN, OPEN CC-1, OPEN CC-					requirem ent for	ent of			
					2, OPEN PH					operation of RO	ure at RO			
										(Rs in Lakhs)	(Rs in Lakhs)			
216	VILLAGE- SAKRI, TEHSIL- KURUD	DHAMTARI	RURAL	50	OBC	DC	30	30	900	12	30	Draw of	5	3
217	VILLAGE KOLAR,TEHSIL ABHANPUR	RAIPUR	RURAL	50	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
218	Village - Loharsi, Tehsil - Masturi	BILASPUR	RURAL	90	OPEN	DC	30	30	900	12	30	Lots Draw of	5	4
219	Village - Batra, Tehsil - Pali	KORBA	RURAL	50	ST	CFS	30	30	900	0	0	Lots Draw of	0	2
220	Village - Paunsara, Tehsil - Bilaspur	BILASPUR	RURAL	50	OBC	DC	30	30	900	12	30	Lots Draw of	5	3
221	VILLAGE SOHANPUR, TEHSIL LAILUNGA	RAIGARH	RURAL	50	OPEN	DC	30	30	900	12	30	Lots Draw of Lots	5	4
222	VILLAGE NAWAPARA, TEHSIL RAIGARH	RAIGARH	RURAL	50	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
223	VILLAGE- SEONI, TEHSIL- AARANG	RAIPUR	RURAL	50	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
224	VILLAGE- KAMRAUD, TEHSIL- GUNDERDEHI	BALOD	RURAL	40	ST	CFS	30	30	900	0	0	Draw of Lots	0	2
225	village- Ghotia, Tehsil- Dondi	BALOD	RURAL	50	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
226	Village-Gunarhod, Tehsil-Bemetara	BEMETARA	RURAL	125	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
227	between milestone no. 170 and milestone no. 172 on NH-130c	GARIABAND	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
228	Within 6 KM from Govt. Hr.Sec. School at Chhuri towards Korba on either side of Katghora -Korba Road	KORBA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
229	Between KM Stone no. 129 & KM Stone no. 131 on SH-1AB	RAIGARH	REGULAR	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
230	Kamala Nehru Udyan to Boridadar, Raigarh, WML	RAIGARH	REGULAR	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
231	Between Km. stone 160 and Km. stone 162 on either side of NH 53	MAHASAMUND	REGULAR	205	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
232	On either side of Telipara Road, Bilaspur City	BILASPUR	REGULAR	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
233	Within 2 KM from Arpa River Bridge at Kenda towards Ratanpur on Either Side of Ratanpur- Kenda Road	BILASPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
234	BETWEEN KM STONE 42 AND KM STONE 44 FROM RAIPUR TO SIMGA ON NH-30	RAIPUR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
	Between KM stone No. 369 to KM stone No.371 on LHS on NH43	SURAJPUR	REGULAR	780	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
236	Within 3 KM from Torwa Chowk towards Masturi on Bilaspur - Masturi Road on either side	BILASPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
237	Village Salka on Baikunthpur - Bilaspur state highway	KORIA	REGULAR	450	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
238	WITHIN 4KM FROM POLICE STATION AT DONDILOHARA TOWARDS DALLIRAJARAH ON SH- 5 on either side	BALOD	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
239		JANJGIR	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
240	BETWEEN KM STONE 15 AND KM STONE 20 FROM RAIPUR TO SIMGA, ON NH 30	RAIPUR	REGULAR	180	OPEN CC 1	СС	35	45	1575	25	10	Bidding	30	5
241	TATIBANDH CHOWK TO CHANDANDIH ON EITHER SIDE	RAIPUR	REGULAR	375	OPEN	CC	35	45	1575	25	10	Bidding	30	5
242	Within 2 KM from Govt. School at Banjari towards Katghora on Chotia- Katghora Road on either side	KORBA	REGULAR	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
243		JANJGIR	REGULAR	180	OBC	СС	35	45	1575	25	10	Bidding	30	4
244	SARONA ON RING ROAD -1,RAIPUR WML	RAIPUR	REGULAR	350	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
245	KHUSHALPUR CHOWK TO BAHATAGAON,ON RING ROAD 1, RAIPUR CITY ON EITHER SIDE	RAIPUR	REGULAR	330	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
246	Between Jain Mandir Chowk and ITI Chowk on either side of the road, Korba WML	KORBA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
247	Between Km. stone no. 82 and Km. stone no. 85 on NH 130 on either side of new Baitalpur bypass road	BEMETARA	REGULAR	172	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
248	Vidhik Seva Marg, Bilaspur WML	BILASPUR	REGULAR	130	OPEN	DC	20	20	400	25	45	Draw of	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly	Category	Type of Site*	M.)/Area o	Dimension Dimension of the site		arrange	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum	Security Deposit (Rs.
				Sales Potential #				·					Bid amount (Rs. Lakhs)	Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
240		DUDG	Regular / Rural	MS+HSD in KIs	SC, SC CC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1 , OBC PH, OPEN, OPEN CC-1, OPEN CC- 2, OPEN PH	CC / DC / CFS	Front age	Dep th	Are a 400	Estimate d working capital requirem ent for operation of RO (Rs in Lakhs)	ure at RO (Rs in Lakhs)	Draw of Lots / Bidding	15	5
249	SMRITI NAGAR, BHILAI WITHIN MUNICIPAL LIMIT		REGULAR							25	60	Draw of Lots		
250	WITHIN 3 KM FROM FUNDAHAR CHOWK ON VIP ROAD TOWARDS TELIBANDHA, RAIPUR WML on either side	RAIPUR	REGULAR	150	OBC CC 1	CC	20	20	400	25	10	Bidding	30	4
251	within 2km from Bijapur collectorate towards bhopalpattanam on either side of NH-63	BIJAPUR	REGULAR	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
252	Raipura on Ring Road-1, RAIPUR CITY	RAIPUR	REGULAR	300	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
253	Between Km. stone 310 and Km. stone 312 on NH 30 on LHS while going towards Simga	BEMETARA	REGULAR	300	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
254	Between Nehru Nagar Chowk to supela chowk towards Raipur On NH 53 on LHS(Old NH 6)	DURG	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
255	Within 3 Kms from junction of old NH6 and new Sankara Bypass road on NH 53 on LHS towards Raipur	MAHASAMUND	REGULAR	155	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
256		RAIPUR	REGULAR	300	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
257	PACHPEDI CHOWK TO DEVPURI ON LHS,RAIPUR WML	RAIPUR	REGULAR	300	OPEN	DC	20	20	400	25	60	Draw of	15	5
258	Within 2 km from Thakur Shobha Singh Govt College at Palidih towards Jashpur on either side of NH 43	JASHPUR	REGULAR	190	OBC	DC	35	45	1575	25	75	Lots Draw of Lots	15	4
259	BETWEEN KM STONE 16 AND KM STONE 20 FROM RAIPUR TO KHARORA ON LHS, NH-130 B	RAIPUR	REGULAR	190	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
260	BORIAKALA,RAIPUR WML	RAIPUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
261	BETWEEN KM STONE 7 AND KM STONE 10 ON TATIBAND TO DHANELI NEW BYPASS	RAIPUR	REGULAR	290	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
262 263	TELGHANINAKA,RAIPUR CITY KHAMTARAI,RAIPUR CITY	RAIPUR RAIPUR	REGULAR REGULAR	150 170	OBC OPEN CC 1	CC DC	20 20	20 20	400 400	25 25	10 60	Bidding Draw of Lots	30 15	4 5
264	GUDHIYARI TO SONDONGRI,RAIPUR CITY ON EITHER SIDE	RAIPUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
265	WITHIN 2 KMS FROM THANA CHOWK TOWARDS GONDIA, ON EITHER SIDE OF GONDIA ROAD	RAJNANDGAON	REGULAR	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
266	DUMARTARI, RAIPUR WML	RAIPUR	REGULAR	280	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
267	BETWEEN KM STONE 25 AND KM STONE 20 ON CHARODHA- DHARSIWA BYPASS ON LHS SIMGA TO RAIPUR	RAIPUR	REGULAR	280	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
268		DANTEWADA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
269	BETWEEN KM STONE 28 AND KM STONE 25 ON NH-130B ON LHS MOVING TOWARDS RAIPUR	RAIPUR	REGULAR	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
270	BETWEEN KM STONE 5 AND KM STONE 7 ON TATIBAND-DHANELI NEW BYPASS ROAD	RAIPUR	REGULAR	280	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
271	NH 130B ON LHS WHILE GOING TOWARDS BALODABAZAR.	RAIPUR	REGULAR	200	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
272	Within 5 KM from Rock Garden at Karrapali towards Baradwar on Either Side of New Bypass (NH-49)	JANJGIR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
273		JASHPUR	REGULAR	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
274	Between KM stone no. 209 and KM stone no. 211 on NH 130	SURGUJA	REGULAR	270	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
275	Between Km. stone 270 and Km. Stone 268 on NH 30 on LHS while moving towards Kawardha	BEMETARA	REGULAR	265	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
276	VIP ROAD FROM NH 6 JUNCTION TO AIRPORT ON LHS, RAIPUR WML	RAIPUR	REGULAR	150	OBC PH	CC	20	20	400	25	10	Bidding	30	4
277	Between Transport Nagar Square and Gerva Ghat on either side of Stadium Road, Korba	KORBA	REGULAR	190	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
278	BETWEEN KM STONE 11 AND KM STONE 14 ON NH -30 WHILE MOVING TOWARDS ABHANPUR on either side	RAIPUR	REGULAR	260	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

No.   Column   Colu	SI. No	Name of location	Revenue District	Type of RO	Estimate	Category	Туре		n Dimensi			e to be	Mode of	Fixed	Security
Processing   Pro							of Site*			(in Sq.	_	-	Selection	Fee / Minimum	(Rs.
1					Potential									amount	Lakhs)
	1	2	2	4		6	7				00	0h	10	Lakhs)	12
ACCORDING CONTROL CO	1	2	3	Regular /	MS+HSD	SC, SC CC-1,	cc/		Dep		Estimate	Estimated	Draw of	- 11	12
## ACCURATE CHOPMENT OLD COMPANA.  **CHANGE AND CHOPMENT OLD CHANGE AND CHOPMENT.  **CHANGE AND CHANGE AND CHOPMENT.  **CHANGE AND CHANGE AND CHA				Kurai	in Kis	CC-1, ST PH,		age	tn	а	working	required			
2219   ACTIONER CHOWN TO LOCKMENAN   APPLIES						, OBC PH,					requirem	developm			
279   ACCURRENCIONEN TOLOGOPHINANA   SALES   ACCURRENCE											operation				
APTIVITED CONTINUES OF THE CONTINUES O															
CONVEX.EMPLIED CITY OF either sides															
TOWARDS MANDLO, OR THERE SIDE OF CAMERS	279		RAIPUR	REGULAR	260	OPEN	DC	20	20	400	25	60		15	5
SECOND   1997	280	TOWARDS MAKDI, ON EITHER SIDE OF KANKER	KANKER	REGULAR	150	OBC	DC	35	45	1575	25	75		15	4
SETIMETER MASTORE 35 AND MASTORE 39 and   RAPPUR   REQUIARE   190   SC   CF5   35   35   1225   0   0   Orword   15	281		RAIPUR	REGULAR	250	OPEN	DC	20	20	400	25	60		15	5
223   Within 2 MA FROM MONA POLICE STATION   BAPUR   REGULAR   250   OPEN   DC   20   20   20   20   20   20   00   25   60   Draw of 15   Lots	282	130B ON LHS WHILE MOVING TOWARDS	RAIPUR	REGULAR	190	SC	CFS	35	35	1225	0	0	Draw of	0	3
On MISSION on either side 259 with 153 on either side 360 miss on Mission on Mission of Mission on Mission Mission on Mission on Mission on Mission on Mission on Mission Mission on Mission Mission on Mission Mis	283	WITHIN 2 KM FROM MOWA POLICE STATION	RAIPUR	REGULAR	250	OPEN	DC	20	20	400	25	60		15	5
285   Althor 2xm from pendir chowk towards chickolae   ARAMANDGAON   REGULAR   250   OPEN   DC   35   45   1575   25   75   Draw of   15	284	T-1	KAWARDHA	REGULAR	150	ОВС	DC	35	35	1225	25	75		15	4
BETWEEN MS STONE 39 AND KM STONE 36 ON A SPUR   REGULAR   190   ST   CFS   35   35   1225   0   0   Draw of oldown SALPUR   Property of the STONE SALPUR   130   OBC   DC   20   20   400   25   45   Draw of oldown SALPUR   130   OBC   DC   20   20   400   25   45   Draw of oldown SALPUR   130   OBC   DC   20   20   400   25   45   Draw of oldown SALPUR   130   OBC   DC   20   20   400   25   45   Draw of oldown SALPUR   130   OBC   DC   20   20   400   25   45   Draw of oldown SALPUR   130   OBC   DC   20   20   400   25   45   Draw of oldown SALPUR   130   OBC   DC   20   20   400   25   45   Draw of oldown SALPUR   130   OBC   DC   35   35   1225   25   75   Draw of oldown SALPUR   130   OBC   DC   35   35   045	285	within 2km from pendri chowk towards chichola	RAJNANDGAON	REGULAR	250	OPEN	DC	35	45	1575	25	75	Draw of	15	5
227   SOMMANUPO ON LID PHAMTAR ROAD   RAPPUR   REGULAR   330   OBC   CC   20   20   400   25   45   Draw of   15	286	BETWEEN KM STONE 39 AND KM STONE 36 ON NH-130B ON LHS WHILE MOVING TOWARDS	RAIPUR	REGULAR	190	ST	CFS	35	35	1225	0	0	Draw of	0	3
288   Between Km. Stone 302 and Km. Stone 304 on   BEMFERAM   REGULAR   250   OPEN   OC   35   35   1225   25   75   Draw of   15	287	Ť	RAIPUR	REGULAR	130	OBC	DC	20	20	400	25	45		15	4
289   WITHIN 3 KM FROM JUNCTION OF NH309 AND   SAIDUR   REGULAR   200   OPEN CC1   DC   35   35   1225   25   60   Draw of   15   Lots	288		BEMETARA	REGULAR	250	OPEN	DC	35	35	1225	25	75	Draw of	15	5
291   BETWEEN MS TONE 41 AND LMS TONE 43 ON NAHASAMUND   REGULAR   175   ST   CFS   35   45   1575   O   O   Draw of   O   O   Draw of   O   O   O   Draw of   O   O   O   O   O   O   O   O   O	289	WITHIN 3 KM FROM JUNCTION OF NH130B AND	RAIPUR	REGULAR	200	OPEN CC 1	DC	35	35	1225	25	60	Draw of	15	5
NH 30, WHILE MOVING TOWARDS SIMGA ON   ETHERS SIDE   Lots	290		MAHASAMUND	REGULAR	190	OBC	DC	35	45	1575	25	75		15	4
Lots	291	NH 30, WHILE MOVING TOWARDS SIMGA ON	RAIPUR	REGULAR	175	ST	CFS	35	45	1575	0	0		0	3
CHOWK, RAIPUR CITY on either side   MUNGELI   REGULAR   175   OBC   DC   35   45   1575   25   75   Draw of   15   Lots	292		MAHASAMUND	REGULAR	250	OPEN	DC	35	35	1225	25	75		15	5
Color   Colo	293		RAIPUR	REGULAR	250	OPEN	DC	20	20	400	25	60		15	5
296   Between Km. stone 42 and Km. stone 44 on SH7   BEMETARA   REGULAR   125   OPEN   DC   35   35   1225   25   60   Draw of   15   Lots	294	_	MUNGELI	REGULAR	175	OBC	DC	35	45	1575	25	75		15	4
296   Between Km. stone 42 and Km. stone 44 on SH7   On LHS while moving towards Deokar on LHS while moving towards Raipur   REGULAR   125   OPEN   DC   35   45   1575   25   75   Draw of Lots	295	GOGAON ON RING RAOD 2,RAIPUR CITY	RAIPUR	REGULAR	250	SC	CFS	20	20	400	0	0		0	3
297   BETWEEN KM STONE 17 AND KM STONE 20   RAIPUR   REGULAR   200   OPEN   DC   35   45   1575   25   75   Draw of Lots   Lots	296		BEMETARA	REGULAR	125	OPEN	DC	35	35	1225	25	60	Draw of	15	5
NO. 61 ON EITHER SIDE OF SH-6   Lots	297	BETWEEN KM STONE 17 AND KM STONE 20	RAIPUR	REGULAR	200	OPEN	DC	35	45	1575	25	75	Draw of	15	5
299   BETWEEN KM STONE 38 AND KM STONE 40, RAIPUR   REGULAR   175   OBC CC1   DC   35   45   1575   25   75   Draw of Lots	298		KANKER	REGULAR	246	OPEN	DC	35	35	1225	25	60		15	5
300   Between KM Stone No. 50 and KM Stone no. 55   BALRAMPUR   REGULAR   150   SC CC 1   CFS   35   45   1575   0   0   Draw of one either side of the road on NH 343   150   BETWEEN KM STONE 38 AND KM STONE 40   RAIPUR   REGULAR   180   OPEN PH   DC   35   45   1575   25   75   Draw of oto tots   15   NH 53 on LHS while moving towards Raipur   MAHASAMUND   REGULAR   225   OBC   DC   35   45   1575   25   75   Draw of oto tots   15   NH 53 on LHS while moving towards Mahasamund   MAHASAMUND   REGULAR   240   OPEN   DC   35   45   1575   25   75   Draw of oto tots   15   Draw of total NH 353 on LHS while moving towards Mahasamund   REGULAR   240   OPEN   DC   35   45   1575   25   75   Draw of total NH 353 on LHS while moving towards Mahasamund   REGULAR   165   ST   CFS   35   45   1575   0   O   Draw of total NH 363 on LHS while moving towards Mahasamund   REGULAR   165   ST   CFS   35   45   1575   0   O   Draw of total NH 363 on LHS while moving towards Mahasamund   REGULAR   165   ST   CFS   35   45   1575   0   O   Draw of total NH 363 on LHS while moving towards Mahasamund   REGULAR   165   ST   CFS   35   45   1575   0   O   Draw of total NH 370 on LHS while MSTONE 254 AND KM STONE 257   RAIPUR   REGULAR   240   OPEN   DC   20   20   400   25   45   Draw of total NH 370 on NH 380   TRAIPUR   REGULAR   110   OBC   DC   35   35   1225   25   60   Draw of total NH 370 on NH 380   TRAIPUR	299	BETWEEN KM STONE 38 AND KM STONE 40,	RAIPUR	REGULAR	175	OBC CC 1	DC	35	45	1575	25	75	Draw of	15	4
301   BETWEEN KM STONE 38 AND KM STONE 40   RAIPUR   REGULAR   180   OPEN PH   DC   35   45   1575   25   75   Draw of Lots	300	Between KM Stone No. 50 and KM Stone no.55	BALRAMPUR	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	Draw of	0	3
302   Between Km. stone 140 and Km. stone 142 on NH 53 on LHS while moving towards Raipur   MAHASAMUND   REGULAR   225   OBC   DC   35   45   1575   25   75   Draw of Lots	301	BETWEEN KM STONE 38 AND KM STONE 40	RAIPUR	REGULAR	180	OPEN PH	DC	35	45	1575	25	75	Draw of	15	5
353 on LHS while moving towards Mahasamund	302	Between Km. stone 140 and Km. stone 142 on	MAHASAMUND	REGULAR	225	OBC	DC	35	45	1575	25	75	Draw of	15	4
FROM AARANG TO RAIPUR ON NH53	303		MAHASAMUND	REGULAR	240	OPEN	DC	35	45	1575	25	75		15	5
305   Ratakhar Bypass, Korba WML   KORBA   REGULAR   240   OPEN   DC   20   20   400   25   45   Draw of   15   Lots   15   Lots   Lo	304		RAIPUR	REGULAR	165	ST	CFS	35	45	1575	0	0		0	3
306 WITHIN VILLAGE BARENGA & VILLAGE TARIGHAT RAIPUR REGULAR 110 OBC DC 35 35 1225 25 60 Draw of Lots	305	Ť	KORBA	REGULAR	240	OPEN	DC	20	20	400	25	45	Draw of	15	5
	306		RAIPUR	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of	15	4
307 Within 4 kms from Shashkiya Prathmik School at KANKER REGULAR 240 OPEN DC 35 35 1225 25 60 Draw of 15 Semrapara towards Antagarh on either side of SH	307	Within 4 kms from Shashkiya Prathmik School at	KANKER	REGULAR	240	OPEN	DC	35	35	1225	25	60	Draw of	15	5
308 Shrinagar, Raipur City RAIPUR REGULAR 240 OPEN DC 20 20 400 25 60 Draw of 15 Lots	308	Shrinagar, Raipur City	RAIPUR	REGULAR	240	OPEN	DC	20	20	400	25	60		15	5

SI. No	Name of location	Revenue District	Type of RO	Estimate	Category	Туре	Minimun	n Dimensi	on (in	Financ	e to be	Mode of	Fixed	Security
31.140	Hame of location	nevenue District	Type of No	d	cutegory	of	M.)/Area				d by the	Selection	Fee /	Deposit
				monthly		Site*		M.). *		app	licant		Minimum	(Rs.
				Sales Potential									Bid amount	Lakhs)
				#									(Rs.	
1	2	3	4	5	6	7		8		9a	9b	10	Lakhs) 11	12
			Regular /	MS+HSD	SC, SC CC-1,	cc/	Front	Dep	Are	Estimate		Draw of		
			Rural	in Kls	SC PH, ST, ST CC-1, ST PH,	DC / CFS	age	th	а	d working	fund required	Lots / Bidding		
					OBC, OBC CC-1 , OBC PH,	0.5				capital	for	Didding		
					OPEN, OPEN					requirem	developm ent of			
					CC-1, OPEN CC- 2, OPEN PH					ent for operation				
					z, or civin					of RO	ure at RO			
										(Rs in Lakhs)	(Rs in Lakhs)			
										-	-			
309	BETWEEN KM STONE 32 AND KM STONE 35 ON TARPONGI BYPASS ROAD	RAIPUR	REGULAR	195	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
310	Lawan-Within Municipal Limits	BALODA BAZAR	REGULAR	110	OBC	DC	20	20	400	25	45	Draw of	15	4
311	CHANDNI CHOWK TO BHATAGAON	RAIPUR	REGULAR	235	OPEN	DC	20	20	400	25	60	Lots Draw of	15	5
	CHOWK,RAIPUR CITY on either side											Lots		
312	BETWEEN KM STONE 35 AND KM STONE 38 FROM SIMGA TO RAIPUR ON LHS,NH 30	RAIPUR	REGULAR	175	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
313	BETWEEN KM STONE NO. 14 AND KM STONE NO.	RAJNANDGAON	REGULAR	190	SC	CFS	35	45	1575	0	0	Draw of	0	3
314	16 ON EITHER SIDE ON NH53 WITHIN 3 KM GANDAI MAIN CHOWK TOWARDS	RAJNANDGAON	REGULAR	125	OBC	DC	35	35	1225	25	60	Lots Draw of	15	4
	CHUIKHADAN ON SH 5 on either side							"				Lots		
315	Within 2 KM from KM stone no. 28 towards	BILASPUR	REGULAR	230	OPEN	DC	35	35	1225	25	60	Draw of	15	5
] 313	Marwahi on Pendra-Marwahi Road ON EITHER		COLAN	230	JI LIV		33	33		23	00	Lots	13	,
316	SIDE Within 3 KM from New Toll Naka near Bhojpuri,	BILASPUR	REGULAR	230	OPEN	СС	35	45	1575	25	10	Bidding	30	5
316	towards Bilaspur on LHS on NH130	BILASPUK	REGULAR	230	OPEN	cc	33	45	13/3	25	10	Bluullig	30	5
317	VIP ROAD, FROM AIRPORT TO NH 53 JUNCTION	RAIPUR	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of	15	4
318	ON LHS,RAIPUR WML Within 3 KM from Kali Mandir (Sector-2) Balco	KORBA	REGULAR	100	ST	CFS	20	20	400	0	0	Lots Draw of	0	3
	towards Dondro Picnic Spot on Balco-Dondro											Lots		
319	Road Within 5 KMs from Durga Mandir at Baysi colony	RAIGARH	REGULAR	330	OPEN	DC	35	45	1575	25	75	Draw of	15	5
	towards Hati on NH 130A on either side of the											Lots		
320	road Within 2 km from Tatibandh Chowk towards	RAIPUR	REGULAR	225	OPEN	DC	35	45	1575	25	75	Draw of	15	5
	Kumhari on LHS on NH53											Lots		
321	WITHIN 5KM FROM JUNCTION OF NH 53 AND RING ROAD 3,TOWARDS VIDHAN SABHA,ON	RAIPUR	REGULAR	125	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	RING ROAD 3 on either side											2013		
322	Within 2 KM from Post office of Saragaon towards Bamhanidih on Either Side of the Road	JANJGIR	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
	towards barrinanium on Either Side of the Road											LOIS		
323	Between milestone no. 388 and milestone no. 390 on NH43	SURGUJA	REGULAR	220	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
324	Between Milestone No. 369 to milestone No. 367	SURAJPUR	REGULAR	220	OPEN	CC	35	35	1225	25	10	Bidding	30	5
225	on LHS on NH43 WITHIN 3KM FROM GOVERNMENT BOYS SHALA	NARAYANPUR	DECHIAD	160	ODC	DC	25	45	1575	25	75	D	45	4
325	AT BHATPAL TOWARDS NARAYANPUR ON EITHER	NAKATANPUK	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
222	SIDE OF NH-130D	DURG	PEG/:::-	46-				22	465					
326	Between bogda pulia to STF police colony main gate on either side, Durg within municipal limit	DURG	REGULAR	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
														_
327	Between KM stone no. 350 and KM stone no. 360 on NH43	SURAJPUR	REGULAR	220	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
328	between milestone no. 87 and milestone no. 91	SUKMA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of	15	4
329	on either side of NH-30 Bhagat Singh chowk to Shankar nagar square on	RAIPUR	REGULAR	220	OPEN	DC	20	20	400	25	60	Lots Draw of	15	5
	LHS, Raipur City											Lots		
330	GE Road, Amanaka overbridge to Tatibandh Circle on LHS, RAIPUR CITY	RAIPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
331	Between milestone no.163 and milestone no.167	RAIGARH	REGULAR	218	ST	CFS	35	35	1225	0	0	Draw of	0	3
332	on either sides ON SH1AB Within 5KM from Mahamaya Chowk at Bilaspur	BILASPUR	REGULAR	180	OBC	DC	35	45	1575	25	75	Lots Draw of	15	4
332	towards Ratanpur on either side of Bilaspur-		COLAN	100	ODC		33	-3	-5/5	23	,,	Lots	13	7
333	Ratanpur Road Within 2kms from Maharana Pratap chowk	SURGUJA	REGULAR	300	OPEN	DC	20	20	400	25	45	Draw of	15	5
333	towards Pushp Vatika Park on either side,	ALUDNOC	REGULAK	300	OPEN	DC	20	20	400	23	43	Lots	13	э
224	Ambikapur WML	MAHASAMUND	DECINAD	215	OPEN	DC	35	45	1575	25	75	Draw -f	10	5
334	Between Km. stone 30 and Km. stone 32 on NH 353 on LHS while going towards Bagbahra	IVIATIASAMUND	REGULAR	215	OPEN	DC	35	45	1575	25	/5	Draw of Lots	15	5
225		NADAVANCUS	DEC!!! 42	150	67	656	25	45	1575			Dani C		-
335	within 5km from Govt. Polytechnic College at Narainpur towards Kondagaon on either side of	NARAYANPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
222	NH-130D	DII ACDUS	PEG/:::-	455	0			22	465	2-			4-	
336	Within 2 km from Jagmal Chowk at Bilaspur towards Golbazar on either side of NH-49(Old	BILASPUR	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
	NH200)													
337	From Km stone No. 7 to Km stone no. 10 on NH 343 on LHS	SURGUJA	REGULAR	215	OPEN	СС	35	35	1225	25	10	Bidding	30	5
	1	i							i					

338	Within 3 KM from Korba West Power Limited towards Raigarh on either side of NH 153	RAIGARH	REGULAR	167	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area	of the site M.). *		arrange app	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakhs)	Security Deposit (Rs. Lakhs)
1	2	3	4 Regular / Rural	MS+HSD in KIs	6 SC, SC CC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1 , OBC PH, OPEN, OPEN CC-1, OPEN CC-2, OPEN PH	CC / DC / CFS	Front age	B Dep th	Are a	9a Estimate d working capital requirem ent for operation of RO (Rs in Lakhs)	9b Estimated fund required for developm ent of infrastruct ure at RO (Rs in Lakhs)	Draw of Lots / Bidding	11	12
339	Bhatapara-Within municipal limits	BALODA BAZAR	REGULAR	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
340	within 4 km from chapka chowk towards Raipur on NH-30 on either side	BASTAR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
341	Between KM Stone no. 267 and KM Stone no. 269 on LHS on NH 49	RAIGARH	REGULAR	320	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
342	Ť	DHAMTARI	REGULAR	210	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
343	MAHADEV GHAT TO SUNDERNAGAR, RAIPUR WML	RAIPUR	REGULAR	150	OBC	CC	20	20	400	25	10	Bidding	30	4
344	within 2km from Kutru Chowk at naimed towards	BIJAPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of	0	3
345	Bijapur on either side of NH-63 Within 2 KM from Seepat Chowk at Bilaspur Towards Seepat on LHS on Bilaspur - Seepat Road	BILASPUR	REGULAR	210	OPEN	DC	20	20	400	25	75	Lots Draw of Lots	15	5
346	Within 2 kms from mahamaya chowk towards Mahamaya temple, Ambikapur, ON EITHER SIDE	SURGUJA	REGULAR	200	OPEN	СС	20	20	400	25	10	Bidding	30	5
347	WITHIN 3KM FROM SHRI CHAITANYA TECHNO SCHOOL AT MADDED TOWARDS BHOPALPATNAM ON EITHER SIDE OF NH-63	BIJAPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
348		DHAMTARI	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
349	Ť	RAIPUR	REGULAR	180	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
350	between milestone no. 83 and milestone no.89	GARIABAND	REGULAR	200	OPEN CC 2	DC	35	45	1575	25	75	Draw of	15	5
351		KONDAGAON	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Lots Draw of	15	4
352	ON EITHER SIDE OF NH-30 Within 5 KM from Kera Chowk at Sheorinarayan towards Pamgarh on SH13 on either side	JANJGIR	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
353		BASTAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of	0	3
354	towards jagdalpur on NH-30 on either side Within 4 KM from Old Bus Stand of Korba towards Urga on Either side of Korba-Urga Road	KORBA	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
355		RAIPUR	REGULAR	200	OPEN	DC	20	20	400	25	60	Draw of	15	5
356	RAIPUR CITY on either side  Between CSEB Chowk and Ghantaghar Chowk,	KORBA	REGULAR	200	OPEN	DC	20	20	400	25	45	Lots Draw of	15	5
357		RAIPUR	REGULAR	170	OBC	DC	35	45	1575	25	75	Lots Draw of	15	4
358		JASHPUR	REGULAR	140	ST	CFS	20	20	400	0	0	Lots Draw of	0	3
359	Maharaja chowk, Jashpur WML Between Milestone number 67 and milestone	SURAJPUR	REGULAR	200	OPEN	DC	35	35	1225	25	60	Lots Draw of	15	5
360	number 69 on SH 12 From Railway Talab to Bhagat Singh Tiraha on Bus Stand Road on LHS, Manendragarh WML	KORIA	REGULAR	200	OPEN	DC	20	20	400	25	45	Lots Draw of Lots	15	5
361	*	RAIPUR	REGULAR	200	OBC	DC	20	20	400	25	60	Draw of	15	4
362	on either side WITHIN 5 KM FROM LAKHANPURI BUS STOP TOWARDS KANKER ON EITHER SIDE OF NH-30	KANKER	REGULAR	150	ST	CFS	35	45	1575	0	0	Lots Draw of Lots	0	3
363	within 4 km from Bijapur collectorate towards	BIJAPUR	REGULAR	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
364	geedam on either side of NH-63	BALOD	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of	15	5
365	either side of SH-23 MODHAPARA,RAIPUR WML	RAIPUR	REGULAR	210	OBC	DC	20	20	400	25	60	Lots Draw of	15	4
366	WITHIN 3 KM FROM TILDA RAILWAY STATION,	RAIPUR	REGULAR	155	SC	CFS	35	35	1225	0	0	Lots Draw of	0	3
	TOWARDS KHARORA ON SH 20 on either side				OPEN	DC	20	20	400	25		Lots Draw of	15	5
367		RAIPUR	REGULAR	200							60	Lots		
368	PUSHPAK NAGAR, BHILAI WITHIN MUNICIPAL LIMIT	DURG	REGULAR	160	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5

369	Between supela chowk and Nehru Nagar chowk on NH53 on LHS	DURG	REGULAR	270	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
370		JANJGIR	REGULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*		n Dimensi of the site M.). *		arrange app	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakhs)	Security Deposit (Rs. Lakhs)
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC, SCC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC-1, OPEN CC-2, OPEN PH	7 CC / DC / CFS	Front age	B Dep	Are a	9a Estimate d working capital requirem ent for operation of RO (Rs in Lakhs)	9b Estimated fund required for developm ent of infrastruct ure at RO (Rs in Lakhs)	Draw of Lots / Bidding	11	12
371	WITHIN 4KM FROM KACHCHE TOWARDS BHANUPRATAPPUR ON SH-5 on either side	KANKER	REGULAR	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
372	Within 2 KM from Delhi Public School towards Raipur on either side of the Bilaspur-Raipur main road	BILASPUR	REGULAR	200	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
373 374	BETWEEN CHARODA CHOWK TO SIRSA GATE TOWARDS DURG ON NH53 ON LHS	DURG MUNGELI	REGULAR	175 190	OBC	DC DC	35 35	45 35	1575 1225	25 25	75 75	Draw of Lots	15 15	4
374	Between Km. stone 72 and Km. stone 74 of NH 130A on either side AVANTI VIHAR, RAIPUR WML	RAIPUR	REGULAR	160	OPEN ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
376	·	DURG	REGULAR	300	OBC PH	DC	35	45	1575	25	75	Draw of Lots Draw of	15	4
377	ON LHS BETWEEN KM STONE 20 AND KM STONE 25 ON CHARODHA-DHARSIWA BYPASS ROAD ON LHS FROM RAIPUR TO SIMGA	RAIPUR	REGULAR	280	OPEN	DC	35	45	1575	25	75	Lots Draw of Lots	15	5
378	Between Km stone 143 and Km stone 141 on NH 53 on LHS while moving towards Saraipali	MAHASAMUND	REGULAR	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
379	WITHIN 2KM FROM BARSANTOLA CHOWK TOWARDS RAINANDGAON ON EITHER SIDE ON SH24	RAJNANDGAON	REGULAR	115	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
380	within 2km from golden chowk at antagarh towards narainpur on SH-5 on either side	KANKER	REGULAR	140	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
381	Within 2 kms from Chatamuda chowk towards Sakti on ring road, Raigarh city on either side	RAIGARH	REGULAR	190	OPEN	CC	20	20	400	25	10	Bidding	30	5
382	Within 3 KM from Lalpur Gate towards Kenda on either side of Ratanpur- Kenda Road	BILASPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
383	within 3km from rajnandgaon bypass junction towards Durg on NH 53 on either side	RAJNANDGAON	REGULAR	185	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
384	Within 2 KM from Jhagarha towards Bharbhaspur on Urga-Rishdi Bypass Road	KORBA	REGULAR	155	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
385	within 2km from kolyapuri chowk towards chichola on NH 53 ON EITHER SIDE	RAJNANDGAON	REGULAR	185	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
386	BETWEEN KM STONE 18 AND KM STONE 21 FROM SIMGA TO RAIPUR ON LHS,ON NH 30	RAIPUR	REGULAR	175	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
387	Within 2km from bandha bazar bus stand on SH 24 ON EITHER SIDE	RAJNANDGAON	REGULAR	180	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
388	within 3km from konta police station towards sukma on either side of NH-30	SUKMA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
389	WITHIN 4KM FROM TEHSIL OFFICE AT BASTANAR TOWARDS JAGDALPUR ON EITHER SIDE OF NH-63	BASTAR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
390	within 5km from nagri bus stand towards dhamtari on either side of SH-23	DHAMTARI	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
391		MAHASAMUND	REGULAR	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
392	RATAN TOWER, RAIPUR CITY	RAIPUR	REGULAR	180	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
393	within 3km from benur police station towards Narainpur on either side of NH-130D	NARAYANPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
394	on SH 12	SURAJPUR	REGULAR	180	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
395	Between Gammon Bridge and Agrasen Chowk on either side of Jaiswal Marg, Champa City	JANJGIR	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
396	From New Bus Stand of Gaurella to Jyotipur Chowk on LHS on Bypass Road	BILASPUR	REGULAR	180	OPEN	СС	20	20	400	25	10	Bidding	30	5
397		RAIPUR	REGULAR	180	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
398	Within 5 KM from Chotia Toll Plaza towards Ambikapur on either side of NH130	KORBA	REGULAR	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
399	WITHIN 3KM FROM GOVERNMENT BOYS SHALA AT BHATPAL TOWARDS KONDAGAON ON NH- 130D ON EITHER SIDE	NARAYANPUR	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4

400	Between Km. stone 18 and Km. stone 20 on SH 10	BALODA BAZAR	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
401	within 2km from Anjorabyspass junction towards rajnandgaon on NH-53 on either side	DURG	REGULAR	205	OPEN PH	СС	35	45	1575	25	10	Bidding	30	5
SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*	M.)/Area	n Dimension of the site M.). *		arrange app	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakhs)	Security Deposit (Rs. Lakhs)
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC, SCC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC-1, OPEN CPEN CPEN CPEN CPEN PH	7 CC / DC / CFS	Front age	8 Dep th	Are a	9a Estimate d working capital requirem ent for operation of RO (Rs in Lakhs)	ure at RO (Rs in Lakhs)	Draw of Lots / Bidding	11	12
402	NO. 90 ON EITHER SIDE OF NH-30	BALOD	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
403	Within 2 KM from Bajrang Chowk at Dhaniya towards Baloda on Either Side of Bilaspur - Baloda Road	BILASPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
404	Within 4 KM from Sai Temple at Barampur towards Bankimogra on either side of Korba-Bankimogra Road	KORBA	REGULAR	180	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
405	NH 30 on either side	BEMETARA	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
406	BETWEEN MILESTONE NO.180 AND MILESTONE NO. 184 ON NH-30	KONDAGAON	REGULAR	154	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
407	Between KM Stone No. 33 and KM Stone No. 35, on LHS while moving from Akaltara towards Bilaspur	JANJGIR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
408	Between KM stone no 55 and KM Stone no. 57 on NH 153	RAIGARH	REGULAR	175	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
409	Between Km stone no. 495 to KM stone no. 500 on NH43	JASHPUR	REGULAR	175	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
410	BETWEEN KM STONE 241 AND KM STONE 244 FROM AARANG TO RAIPUR ON NH53	RAIPUR	REGULAR	330	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
411	within 4 km from bhairamgarh tehsil office towards bijapur on either side of NH-63	BIJAPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
412	Within 4 KM from Pandaripani Mod on Urga-Risdi Bypass Road towards Bharbhaspur on LHS	KORBA	REGULAR	175	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
413	Within 2 kms from Setganga Police station towards Pandaria on NH 130A ON EITHER SIDE	MUNGELI	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
414	Within 3 Kms from Pandatarai towards Pandharia on SH 5 on either side	KAWARDHA	REGULAR	160	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
415	From Ghantaghar Chowk to Shashtri Chowk on either side of the road, Korba WML	KORBA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
416	PITHORA BYPASS ROAD ON EITHER SIDE OF NH 53	MAHASAMUND	REGULAR	175	OPEN	DC	35	45	1575	25	75	Draw of	15	5
417	Raipur Canal Road, between GE road to Shankar nagar road, Raipur City on either side	RAIPUR	REGULAR	175	OBC	CC	20	20	400	25	10	Lots Bidding	30	4
418	Between KM stone no. 419 and KM stone no. 421	SURGUJA	REGULAR	170	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
419	Between KM stone number 382 and KM stone no. 384 on NH 43	SURGUJA	REGULAR	170	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
420		KONDAGAON	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
421		RAJNANDGAON	REGULAR	160	OBC	CC	35	45	1575	25	10	Bidding	30	4
422	Between KM stone no. 8 and KM stone no. 10 on LHS on SH 12	SURAJPUR	REGULAR	170	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
423	Between Lal Tanki Chowk to Seth kirodimal Chowk, Raigarh, WML	RAIGARH	REGULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
424		KONDAGAON	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
425	within 4km from bahigaon towards kondagaon on NH-30 ON EITHER SIDE	KONDAGAON	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
426	within 2km from imam chowk towards khairagarh on khairagdh road, Rajnandgaon		REGULAR	170	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
427	BETWEEN KATCHNA RAILWAY CROSSING TO SHANKAR NAGAR SQAURE,RAIPUR CITY	RAIPUR	REGULAR	170	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
428	NH-30 ON EITHER SIDE	KANKER	REGULAR	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
429	within 3 kms from Motipur Chowk towards Dongargarh, Rajnandgaon	RAJNANDGAON	REGULAR	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
430	Within 3 KM from Beriyar Chowk at Champa towards PIL on either side of Bypass Road (PIL Road)	JANJGIR	REGULAR	170	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
431	BIRGAON, RAIPUR WML	RAIPUR	REGULAR	170	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5

432	within 3km from Dadargarh towards jagdalpur on NH-30 ON EITHER SIDE	KONDAGAON	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
433	WITHIN 3 KMS FROM DONGARGAR BUS STAND TOWARDS KHAIRAGAR ON EITHER SIDE OF DONGARGAR KHAIRAGAR ROAD	RAJNANDGAON	REGULAR	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*	M.)/Area	n Dimension of the site M.). *		arrange app	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakhs)	Security Deposit (Rs. Lakhs)
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC, SC CC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC-1, OPEN CC-2, OPEN PH	7 CC / DC / CFS	Front age	8 Dep th	Are a	9a Estimate d working capital requirem ent for operation of RO (Rs in Lakhs)	9b Estimated fund required for developm ent of infrastruct ure at RO (Rs in Lakhs)	Draw of Lots / Bidding	11	12
434	53 on either side	MAHASAMUND	REGULAR	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
435	BETWEEN KM STONE 26 AND KM STONE 28 FROM RAIPUR TO SIMGA, ON NH 30 ON EITHER SIDE	RAIPUR	REGULAR	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
436	on either side of the road on NH43	JASHPUR	REGULAR	200	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
437	30 on LHS	BALODA BAZAR	REGULAR	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
438	within 4km from e-panchayat bhavan at Balenga towards jagdalpur on NH-30 on either side	BASTAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
439	Within 5 KM from Gobripat chowk towards Lormi on Either Side of Kota- Lormi Road	BILASPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
440	between milestone no. 175 and milestone no. 178 on either side of NH-30	KONDAGAON	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
441	Within 2km from patharia chowk towards dhamdha, on durg dhamdha road on SH-7 on either side	DURG	REGULAR	165	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
442	Ratanpur City WML	BILASPUR	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
443	within 3km from Aturgaon towards Makdi on new kanker bypass road ON EITHER SIDE	KANKER	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
444	Within 5 KM from Hotel Country Club at Bilaspur towards Ratanpur on NH-130 (Old SH-2) on either side	BILASPUR	REGULAR	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
445	Between KM stone no. 18 to KM stone no. 20 on SH 4	JASHPUR	REGULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
446	Within 3 KM from Balodabazar tiraha towards Lawan, on either side of NH130B (old SH 9)	BALODA BAZAR	REGULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
447	within 3km from CTJW College towards Jagdalpur on NH-30 ON EITHER SIDE	KANKER	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
448	Between Km. stone 4 and Km. stone 6 on NH 153 on LHS while going towards Sarangarh	MAHASAMUND	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
449	within 4km from lanjoda towards Raipur on either side of NH-30	KONDAGAON	REGULAR	150	OPEN CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
450	within 3km from forest checkpost at kanker towards jagdalpur on NH-30 ON EITHER SIDE	KANKER	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
451	Within 5 KM from Madwarani Temple towards Korba on Korba -Champa Road on either side	KORBA	REGULAR	170	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
452	within 2km from Gyani chowk towards makdi on SH-6 on either side	KANKER	REGULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
453	Between KM stone no. 424 and KM stone no. 426 on NH43	SURGUJA	REGULAR	160	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
454	On Either Side of Link Road, Janjgir City	JANJGIR	REGULAR	140	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
455	on either side	DHAMTARI	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
456	Between KM Stone No.24 and KM Stone No.27 on either side of New Bilaspur - Raigarh Bypass Road(NH49)	BILASPUR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
457	BHATAGAON, Raipur	RAIPUR	REGULAR	160	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
458	BETWEEN MILESTONE NO. 56 AND MILESTONE NO. 60 ON NH-130C.	GARIABAND	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
459	BETWEEN IIIT CHOWK TO MANTRALAY,NAYA RAIPUR	RAIPUR	REGULAR	160	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
460	BETWEEN MILESTONE NO. 45 AND MILESTONE NO. 49 ON NH-130C.	GARIABAND	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
461	Within 2 Kms from Patparpali middle school on NH 353 on LHS while moving towards Vishakhapatanam	MAHASAMUND	REGULAR	225	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
462	BETWEEN MILESTONE NO. 117 AND MILESTONE NO. 121 ON NH-130C.	GARIABAND	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

463	Within 2 KM from Shiv Vihar at Mehmand towards Power House Chowk on either side of the road	BILASPUR	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
464		SUKMA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
465	between milestone no. 67 and milestone no. 71 on either side of NH-30	DHAMTARI	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*	M.)/Area	n Dimensi of the site M.). *		arrange	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakhs)	Security Deposit (Rs. Lakhs)
1	2	3	4 Regular / Rural	5 MS+HSD in Kls	6 SC, SC CC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC- 1, OPEN CC-2, OPEN PH	7 CC / DC / CFS	Front age	8 Dep th	Are a	9a Estimate d working capital requirem ent for operation of RO	fund required for developm ent of	Draw of Lots / Bidding	11	12
										(Rs in Lakhs)	(Rs in Lakhs)			
466	between milestone no. 178 and milestone no. 180 on either side of NH-30.	KONDAGAON	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
467	WITHIN 3 KM FROM OM SHANTI CHOWK TOWARDS VAISHALINAGAR ON GAURAV PATH,BHILAI WML on either side	DURG	REGULAR	170	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
468	Akaltara Within Municipal Limits	JANJGIR	REGULAR	160	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
469	within 3km from Darbha tehsil office towards sukma on either side of NH-30	BASTAR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
470		MAHASAMUND	REGULAR	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
471		DANTEWADA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
472	between ambedkar chowk at Dhamtari and collectorate Dhamtari	DHAMTARI	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
473	between milestone no.84 and milestone no. 87 on either side of NH-30	SUKMA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
474	On either side of Budhwari Bazar Road, Sakti Town	JANJGIR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
475	ON KONDAGAON-UMERKOTE ROAD,KONDAGAON WITHIN MUNICIPAL LIMIT.	KONDAGAON	REGULAR	140	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
476	GE Road, Tatibandh Circle to Amanaka overbridge on LHS, Raipur WML	RAIPUR	REGULAR	220	OBC PH	DC	20	20	400	25	60	Draw of Lots	15	4
477	TELIBANDHA CHOWK TO JAI STAMBH CHOWK ON EITHER SIDE,RAIPUR WML	RAIPUR	REGULAR	160	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
478	between sihawa chowk at dhamtari and nahar naka chowk on either side of road, Dhamtari city	DHAMTARI	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
	Between Banaras chowk and Kendriya vidyalaya at Ambikapur on M G Road, Ambikapur WML	SURGUJA	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
	Within 2 KM from Mopka Chowk towards Seepat on either side of Bilaspur - Seepat Road	BILASPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
481	Between Seth Kirodimal chowk to Hotel Trinity Grand, Raigarh WML	RAIGARH	REGULAR	400	OPEN	CC	20	20	400	25	10	Bidding	30	5
	Within 5kms from Chatamuda chowk towards Saraipali on either side of the road on NH 153	RAIGARH	REGULAR	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
483	Between KM stone no. 14 and KM stone no. 16 on SH 3	SURGUJA	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
		BIJAPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Within 2km from Samoda chowk towards dhamdha on SH 7 ON EITHER SIDE	DURG	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
486	between milestone no.91 and milestone no. 93 on either side of NH-30	SUKMA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
487	Ť	SURAJPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
		BALRAMPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
489		BEMETARA	REGULAR	150	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
490	Between Gudari Chowk and Pratappur chowk, Ambikapur, within municipal limits	SURGUJA	REGULAR	200	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	within 4km from bhopalpatnam police station towards Bhadrakali on either side of NH-163	BIJAPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Within 2 KM from Forest Office at Morga towards Ambikapur on NH130 on Either side	KORBA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

493	Within 2 KM from FCI Gate towards Bilaspur Railway Station, Bilaspur City ( WML)	BILASPUR	REGULAR	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
494	within 3km from middle school at Kaamanar towards keshlur on either side of NH-30	BASTAR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
495	WITHIN 4KM FROM NCC OFFICE AT PARCHANPAL TOWARDS RAIPUR ON NH-30 on either side	BASTAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*	Minimun M.)/Area			arrange app	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakhs)	Security Deposit (Rs. Lakhs)
1	2	3	4 Regular / Rural	MS+HSD in KIs	6 SC, SCC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC-1, OPEN CC-2, OPEN PH	7 CC / DC / CFS	Front age	8 Dep th	Are a	9a Estimate d working capital requirem ent for operation of RO (Rs in Lakhs)	9b Estimated fund required for developm ent of infrastruct ure at RO (Rs in Lakhs)	Draw of Lots / Bidding	11	12
496	Within 2 KM from Urga Chowk towards Kanki on	KORBA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of	15	5
497	either side of Urga-Baloda Road BETWEEN KM STONE 30 AND KM STONE 32	RAIPUR	REGULAR	220	OPEN	СС	35	45	1575	25	10	Lots Bidding	30	5
498	FROM RAIPUR TO SIMGA ON NH 30 Within 8 KM from Bhadri Chowk towards Raigarh on Either Side of Sakti- Raigarh Road	JANJGIR	REGULAR	150	OPEN	CC	35	35	1225	25	10	Bidding	30	5
499	between milestone no. 316 and milestone no. 318 on either side of NH-63	BASTAR	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of	15	4
500		BASTAR	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	Lots Draw of Lots	0	3
501	Between Km. stone 192 and Km. stone 194 on NH 53 on LHS while going towards Raipur	MAHASAMUND	REGULAR	170	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5
502		DURG	REGULAR	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
503	WITHIN 5 KM FROM JUNCTION OF SH20 AND SAMODHA ROAD TOWARDS AARANG ON SH 20 on either side	RAIPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
504	between milestone no. 27 and milestone no. 32 on either side of SH-26	KONDAGAON	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
505		RAIGARH	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
506	Within 4 km from mahud bus stop towards Raipur on NH-30 ON EITHER SIDE	BALOD	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
507	WITHIN 4KM FROM E-PANCHAYAT BHAVAN AT BALENGA TOWARDS RAIPUR ON NH-30 on either side	BASTAR	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
508	Between Km. stone 259 and Km. stone 261 on NH 30 on LHS while going towards Bemetara	KAWARDHA	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
509	within 5km from dantewada collectorate towards kirandul on either side of SH-5	DANTEWADA	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
510		RAIPUR	REGULAR	200	OBC	CC	35	45	1575	25	10	Bidding	30	4
511	Within 5 Kms from Pandharia towards Lormi on SH 10 on either side	KAWARDHA	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
512		BASTAR	REGULAR	220	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
513	Within 5 Km from Sunrise School at Baradwar towards Bilaspur on Either Side of Bypass Road (NH-49)	JANJGIR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
514		BALOD	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
515		MUNGELI	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
516	Between Km. stone 218 and Km. Stone 220 on NH 53 on LHS while going towards Bemetara	MAHASAMUND	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
517	WITHIN 3KM FROM KHADGAON BHATGAON CHOWK TOWARDS MANPUR ON KHADGAON- MANPUR ROAD on either side	RAJNANDGAON	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
518		NARAYANPUR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
519	Within 3 KM from KVK Plant Gate at Amartal towards Raigarh on NH49 on LHS	JANJGIR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
520	Between KM Stone 72 and KM Stone 74 on Bilaspur - Katghora Road on LHS,while moving towards katghora	KORBA	REGULAR	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
521	within 3km from unionbank of India Kuthrel towards Durg on SH-7 on either side	DURG	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
522		RAIPUR	REGULAR	175	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

523	Within 5 KM from Rama Life City Gate towards Mungeli on Bilaspur - Mungeli Road on either side	BILASPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
524	Within 3 KM from Nehru Chowk towards Uslapur on either side of Bilaspur- Mungeli road	BILASPUR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
525	WITHIN 4 KM FROM BHANUPRATAPPUR POLICE STATION TOWARDS KANKER ON EITHER SIDE OF SH-6	KANKER	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*	M.)/Area	n Dimensi of the site M.). *		arrange	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakhs)	Security Deposit (Rs. Lakhs)
1	2	3	4 Regular /	5 MS+HSD	6 SC, SC CC-1, SC	7 CC /	Front	8 Dep	Are	9a Estimate	9b Estimated	10 Draw of	11	12
			Rural	in Kls	PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC- 1, OPEN CC-2, OPEN PH	DC / CFS	age	th	а	d working capital requirem ent for operation of RO (Rs in Lakhs)	fund required for developm ent of	Lots / Bidding		
526	within 3km from Government high school at nathiya nawagaon towards kanker on NH-30 on either side	KANKER	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
527	Between Gandhi Chowk and Tarbahar Chowk, Bilaspur WML	BILASPUR	REGULAR	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
528	Between Guru Ghasidas Chowk and Maharana Pratap Chowk on Budhwari-TP Chowk Bypass, Korba WML	KORBA	REGULAR	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
529	Between Km. stone 252 and Km. stone 250 on NH 30 on LHS while moving towards Kawardha	KAWARDHA	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
530	Within 3 Kms from Khartora chowk at Lawan on NH 130B (old SH 9) towards Balodabazar on either side	BALODA BAZAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
531	within 2 km from kusumkasa chowk towards rajnandgaon on SH-5 ON EITHER SIDE	BALOD	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
532	BETWEEN SIRSAGATE CHOWK TO CHARODA CHOWK ON NH 53 TOWARDS RAIPUR ON LHS	DURG	REGULAR	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
533	On Either Side of Shrikant Verma Marg, Bilaspur WML	BILASPUR	REGULAR	170	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
534	Between milestone no. 447 and milestone no. 450 on NH 43	SURGUJA	REGULAR	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
535	Within 2 KM from Thana Chowk (Parshabhata) towards Risdi Chowk on Balco Ring Road	KORBA	REGULAR	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
536	On Either Side of SECL Main Road, Mudhapar, Korba WML	KORBA	REGULAR	160	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
537	Within 2 KM from Urga Chowk towards Champa on Korba- Champa Road on either side	KORBA	REGULAR	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
538	Within 2km from mathai chowk at dondi towards dalli rajarah on either side of SH-5	BALOD	REGULAR	160	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
539	From Vishveshvaraiya Gate to MMR College on either side of the road, Champa	JANJGIR	REGULAR	130	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
540	WITHIN 2KM FROM GOVT. HIGHER SECONDARY SCHOOL, INDAGAON TOWARDS DEOBHOG ON NH-130C ON EITHER SIDE	GARIABAND	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
541	Within 5 Kms from Bhatapara towards Balodabazar on SH 10 on either side	BALODA BAZAR	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
542	WITHIN 4 KMS FROM FUHARA CHOWK TOWARDS MANPUR ON SH 24 on either side	RAJNANDGAON	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
543	On Either Side of Tifra- Ameri Road, Tifra Town	BILASPUR	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
544	Between KM stone No. 26 and KM Stone No. 29 on either side of Bilaspur - Ambikapur Road	BILASPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
545	WITHIN 4 KMS FROM OLD PATAN BUS STAND TOWARDS UTAI ON SH22 on either side	DURG	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
546	BETWEEN KM STONE 25 AND KM STONE 27,RAIPUR TO KHARORA ON LHS,NH-130 B	RAIPUR	REGULAR	210	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
547	within 4 km from tadoki police station towards narayanpur on SH-5 ON EITHER SIDE	KANKER	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
548	WITHIN 2KM FROM DONGERGAON CHOWK TOWARDS RAJNANDGAON ON LHS ON NH53	RAJNANDGAON	REGULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
549	Within 2 KM from Pali Bus Stop towards Katghora on Bilaspur - Ambikapur Road ON EITHER SIDE	KORBA	REGULAR	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3

550	Between Rajendra Nagar Chowk and Agrasen Chowk on Link road, Bilaspur City WML	BILASPUR	REGULAR	180	OPEN CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
551	Between Ganesh Chowk and Ameri Chowk,	BILASPUR	REGULAR	100	OBC CC 1	DC	20	20	400	25	45	Draw of	15	4
552	Bilaspur WML WITHIN 3 KMS FROM PHARHAD CHOWK TOWARDS DONGARGAON ON SH 24 on either	RAJNANDGAON	REGULAR	125	OPEN	DC	35	35	1225	25	60	Lots Draw of Lots	15	5
553	side RAIPURA CHOWK TO LAKHENAGAR CHOWK, Raipur WML	RAIPUR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*	M.)/Area	M.). *		arrange app	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakhs)	Security Deposit (Rs. Lakhs)
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC, SCC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC-1, OPEN CC-2, OPEN PH	7 CC / DC / CFS	Front age	B Dep th	Are a	9a Estimate d working capital requirem ent for operation of RO (Rs in Lakhs)	9b Estimated fund required for developm ent of infrastruct ure at RO (Rs in Lakhs)	Draw of Lots / Bidding	11	12
554	WITHIN 3KM FROM JUNCTION OF TERDUL ROAD TOWARDS KONDAGAON ON EITHER SIDE OF NH- 130D	KONDAGAON	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
555	WITHIN 2KM FROM MAHARAJA CHOWK TOWARDS BORSI, DURG WML	DURG	REGULAR	160	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
556	WITHIN 2 KM FROM NH30 JUNCTION ON RING ROAD-3, TOWARDS VIDHAN SABHA FLYOVER ON LHS	RAIPUR	REGULAR	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
557	Within 3 KM from Dumarkachhar Square towards Katghora on Either Side of Bilaspur - Ambikapur Road	KORBA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
558	within 4km from bhopalpatnam police station towards Bijapur on either side of NH-63	BIJAPUR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
559	Surajpur Bypass (Ambikapur to Manpur road)	SURAJPUR	REGULAR	350	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
560	Between Km. stone 48 and Km. stone 52 on NH 130 on either side of new Simga bypass road	BALODA BAZAR	REGULAR	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
561	within 4 km from bhoyna towards nagari on SH- 23 on either side	DHAMTARI	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
562	Between KM stone no. 190 and KM stone no. 195 ON NH49	RAIGARH	REGULAR	230	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
563	Between Agrasen Chowk and Mandir Chowk on either side of the Road, Bilaspur WML	BILASPUR	REGULAR	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
564	WITHIN 2KM FROM JEWARTALA TOWARDS DALLIRAJARA ON EITHER SIDE OF SH-5	BALOD	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
565	within 2km from penta towards sukma on ether side of NH-30	SUKMA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
566		RAIPUR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
567	WITHIN 2 KM FROM KRISHI VIGYAN KENDRA SURGI TOWARDS GUNDERDEHI ON SH 23 on either side	RAJNANDGAON	REGULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
568		KONDAGAON	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
569	From Netaji Chowk up to Naila Railway Station on either side of Maharaja Agrasen Marg, Janjgir City	JANJGIR	REGULAR	130	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
570	Labhandi,Raipur	RAIPUR	REGULAR	130	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
571	Within 2 KM from Kargi Road Railway Station towards Lormi on Ratanpur-Lormi Road	BILASPUR	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
572	VILLAGE TEKARI ON RING ROAD 3	RAIPUR	REGULAR	140	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
573	Between Torwa Chowk and Mopka Chowk on Mopka Bypass Road	BILASPUR	REGULAR	130	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
574		DURG	REGULAR	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
575	Mangla Chowk Bypass, Bilaspur WML	BILASPUR	REGULAR	130	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
576	between milestone no. 313 to milestone no. 315 of either side of NH-63	BASTAR	REGULAR	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
577	BETWEEN MILESTONE NO.393 AND MILESTONE NO. 395 ON NH 53(old NH 6)	RAJNANDGAON	REGULAR	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
578	WITHIN 3KM FROM RAJIV GANDHI CHOWK AMBAGARH CHOWKI TOWARDS MOHALA ON SH 24 on either side	RAJNANDGAON	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

579	Dipka WML	KORBA	REGULAR	120	OBC	DC	20	20	400	25	45	Draw of	15	4
580	Within 1 KM from Old Bus Stand of Pendra towards Village Girwar on Either Side of the Road	BILASPUR	REGULAR	180	ST	CFS	20	20	400	0	0	Lots Draw of Lots	0	3
581	WITHIN 1 KMS FROM SURYAVIHAR CHOWK TOWARDS KOHKA ON LHS, BHILAI WML	DURG	REGULAR	160	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
582	WITHIN 2 KM FROM HARSHIT NEO CITY MAIN GATE AT AMLESHWAR TOWARDS RAIPUR on either side	DURG	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
583	between milestone no. 57 and milestone no. 62 on either side of NH-30	SUKMA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
Sl. No	Name of location	Revenue District	Type of RO	Estimate d	Category	Type of	Minimun M.)/Area	Dimensi of the site			e to be	Mode of Selection	Fixed Fee /	Security Deposit
1	2	3	4	monthly Sales Potential #	6	Site*		M.). *			licant 9b	10	Minimum Bid amount (Rs. Lakhs)	(Rs. Lakhs)
1		3	Regular / Rural	MS+HSD in KIs	SC, SCCC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC-1, OPEN PH	CC / DC / CFS	Front age	Dep th	Are a	Estimate d working capital requirem ent for operation of RO (Rs in Lakhs)	Estimated fund required for developm ent of	Draw of Lots / Bidding		
584	From Sunaliya Bridge to CSEB Chowk on main road, Korba WML on either side	KORBA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
585	Within 2 km from Risdi square towards Balco on either side of Balco - Risdi Ring Road	KORBA	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
586	within 2km from Nandai chowk towards Balod on SH 5 ON EITHER SIDE	RAJNANDGAON	REGULAR	135	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
587	Within 3 KM from Tarod Square towards Bilaspur on either side of New Bypass Road (NH-49)	JANJGIR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
588	BETWEEN KM STONE 249 AND KM STONE 251,WHILE MOVING FROM ARANG TO RAIPUR, EITHER SIDE ON NH 53	RAIPUR	REGULAR	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
589	Between KM stone no. 45 and KM stone no. 55 on SH 1	RAIGARH	REGULAR	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
590	within 4km from korar police station towards makdi on SH-6 on either side	KANKER	REGULAR	220	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
591	within 5km from railway crossing at keshlur towards Darbha on either side of NH-30.	BASTAR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
592	WITHIN 3 KMS FROM NARMADA KUND CHOWK TOWARDS KHAIRAGARH ON EITHER SIDE ON SH5	RAJNANDGAON	REGULAR	135	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
593	within 3 km from dhanora chowk towards geedam on NH-63 on either side	BIJAPUR	REGULAR	200	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
594	BETWEEN MILESTONE NO 26 AND MILESTONE 28 ON KHAIRAGARH-RAJNANDGAON ROAD ON SH 5	RAJNANDGAON	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
595	between milestone no. 96 and milestone no. 100 on NH-130C	GARIABAND	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
596	Within 2 km from District Hospital at Balrampur towards kusumi on Balrampur-Kusumi road	BALRAMPUR	REGULAR	140	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
597	Within 5 Kms from Chhattisgarh Gramin Bank Kondatarai towards Sarangarh on NH 153 on either side	RAIGARH	REGULAR	176	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
598	on dhamtari bypass road on LHS while going from chitaud to sambalpur.		REGULAR	170	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
599	sambalpur to chitaud.	DHAMTARI	REGULAR	160	OBC CC 1	СС	35	45	1575	25	10	Bidding	30	4
600	WITHIN 2KM FROM MEDICAL COLLEGE TOWARDS JAGDALPUR ON NH-30 on either side	BASTAR	REGULAR	220	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
601	on either side of NH-30	DHAMTARI	REGULAR	150	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5
602	between kurud and dandesara on either sides of NH-30.	DHAMTARI	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
603	Within 5 KM from Post Office at Keonchi towards Kenda on either side of Keonchi - Ratanpur Road	BILASPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
604	Within 3 KM from Vasant Vihar Gate towards Seepat Chowk on Bilaspur -Seepat Road on either side	BILASPUR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
605	Within 2 KM Maniyari River Bridge towards Bilaspur on new bypass (NH-130) on either side	BILASPUR	REGULAR	240	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
606	Between Madwari Chowk and Barpali Chowk on Tehsil Road, Champa WML	JANJGIR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
607	Within 2 KM from Old Bus Stand at Jaijaipur towards Hasaud on LHS on Jaijaipur-Hasaud Road	JANJGIR	REGULAR	110	OPEN	СС	20	20	400	25	10	Bidding	30	5

608	WITHIN 2 KM FROM RAIPUR NAKA TOWARDS KATULBOD, DURG	DURG	REGULAR	105	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
609		DURG	REGULAR	109	OPEN	DC	35	35	1225	25	60	Draw of	15	5
610	DURG ON EITHER SIDE. aarang town	RAIPUR	REGULAR	120	OBC	DC	20	20	400	25	45	Lots Draw of	15	4
												Lots		
611	WITHIN 3KM FROM FROM IRAGUDA TOWARDS DURG ON EITHER SIDE OF SH-7	BALOD	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
612	Between KM Stone 184 to milestone no.187 on	SURGUJA	REGULAR	305	OPEN	DC	35	35	1225	25	75	Draw of	15	5
613	NH130 BETWEEN MILESTONE NO. 107 AND MILESTONE	GARIABAND	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Lots Draw of	15	5
Cl. N.	NO. 113 ON NH-130C.	D District	T(100	F.15	0.1			<u> </u>		=		Lots	F1 1	C
SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*	M.)/Area	M.). *		arrange app	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakhs)	Deposit (Rs. Lakhs)
1	2	3	Pagular /		6 SC, SC CC-1, SC	cc/	Eront	8 Don	Aro	9a Estimata	9b Estimated	10	11	12
			Regular / Rural	MS+HSD in KIs	PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC- 1, OPEN CC-2, OPEN PH	DC / CFS	Front age	Dep th	Are a	estimate d working capital requirem ent for operation of RO (Rs in Lakhs)	ure at RO (Rs in Lakhs)	Draw of Lots / Bidding		
614	BETWEEN MILESTONE NO. 36 AND MILESTONE NO. 41 ON EITHER SIDE OF NH-130C.	GARIABAND	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
615	LALPUR ON EITHER SIDE, ON KHAIRAGARH- BAZAR ATARIA ROAD	RAJNANDGAON	REGULAR	115	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
616		BILASPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
617		SURAJPUR	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
618	BETWEEN KM STONE 24 AND KM STONE 27	RAIPUR	REGULAR	185	OPEN	DC	35	45	1575	25	75	Draw of	15	5
619	FROM RAIPUR TO SIMGA ON NH 30 Within 2 KM from Carrer Point at Dayalbandh	BILASPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Lots Draw of	15	5
	towards Vasant Vihar on either side of the Road,Bilaspur											Lots		
620	JAMUL, ON NANDINI ROAD	DURG	REGULAR	135	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
621	Canal linking road, between Ring road 1 and GE road, Raipur WML	RAIPUR	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of	15	4
622	DETWEEN MILESTONE 338 AND MILESTONE 341 ON NH53(OLD NH6)ON LHS WHILE MOVING TOWARDS DURG	RAJNANDGAON	REGULAR	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
623	NEHRU NAGAR, BHILAI CITY	DURG	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of	15	5
624	GARIYABAND TOWN ON CHHURA ROAD	GARIABAND	REGULAR	100	ST	CFS	20	20	400	0	0	Lots Draw of Lots	0	3
625	WITHIN 2KM FROM GADADIH SEWA SAHKARI SAMITI TOWARDS GANDAI ON DHAMDHA- GANDAI ROAD on either side	DURG	REGULAR	125	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
626	WITHIN IN 2 KM FROM JUNCTION OF NH 53 AND SH 7 TOWARDS DURG CITY, DURG WML on either side	DURG	REGULAR	105	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
627	WITHIN 2 KM FROM KRISHNA PUBLIC SCHOOL MAIN GATE TOWARDS JEVRA-SIRSA ON KOHKA- SIRSA ROAD, Bhilai	DURG	REGULAR	105	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
628	BETWEEN MINIMATA CHOWK AND SHIVNATH RIVER BRIDGE ON EITHER SIDE, Durg within municipal limit	DURG	REGULAR	155	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
629	Between Nayapara chowk to shivnath nadi road Durg within Municipal limit	DURG	REGULAR	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
630	WITHIN 6 KM FROM KESHKAL BUS STAND TOWARDS KONDAGAON ON NH-30 on either side	KONDAGAON	REGULAR	154	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
631	WITHIN 4KM FROM BASTAR POLICE STATION TOWARDS RAIPUR ON NH-30 on either side	BASTAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
632	Within 2 KM from Amarnath Sao Chowk at Masturi towards Bilaspur on either side of old NH200	BILASPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
633	Canal Road, between Shankar nagar and Pandhri Bus stand, Raipur WML	RAIPUR	REGULAR	175	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
634	WITHIN 2 KMS FROM MAHARAJA CHOWK TOWARDS JAIL CHOWK on either side	DURG	REGULAR	105	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
635	DURG TOWN WITHIN MUNICIPAL LIMIT	DURG	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw of	15	5
636	Gudhiyari,Raipur WML	RAIPUR	REGULAR	150	OBC	DC	20	20	400	25	60	Lots Draw of	15	4
637	BETWEEN KM STONE 17 AND KM STONE 19	RAIPUR	REGULAR	150	OPEN	CC	35	35	1225	25	10	Lots Bidding	30	5
	FROM RAIPUR TO KHARORA ON EITHER SIDE, NH- 130 B													

620		0.410110	25011142	200		656	20	20	400					
638	Railway station to Ghadi Chowk, Raipur WML	RAIPUR	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
639	within 2 km from Jai Stambh chowk, Raipur WML on either side	RAIPUR	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
640		BILASPUR	REGULAR	110	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
641	Nawagarh Town	JANJGIR	REGULAR	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
642	Within 2 KM from Chandrahasini Devi Temple at Chandrapur towards Raigarh on either side of NH49	JANJGIR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
643	WITHIN 4KM FROM PANCHAYAT BHAVAN AT MASORA TOWARDS RAIPUR ON EITHER SIDE OF NH-30	KONDAGAON	REGULAR	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*	M.)/Area	M.). *		arrange appl	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakhs)	Security Deposit (Rs. Lakhs)
1	2	3	4 Regular /	5 MS+HSD	6 SC, SC CC-1, SC	7 CC /	Front	8 Dep	Are	9a Estimate	9b Estimated	10 Draw of	11	12
			Rural	in Kls	PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC- 1, OPEN CC-2, OPEN PH	DC / CFS	age	th	а	d working capital requirem ent for operation of RO (Rs in Lakhs)	fund required for developm ent of infrastruct ure at RO (Rs in Lakhs)	Lots / Bidding		
644	WITHIN 2 KM FROM MANDIR HASAUD JUNCTION TOWARDS AARANG, ON NH53 on either side	RAIPUR	REGULAR	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
645	Between Km. stone 221 and Km. stone 223 on either side of NH 53	MAHASAMUND	REGULAR	172	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
646	SECTOR 5,MANDIR HASOUD, NAYA RAIPUR(ATAL	RAIPUR	REGULAR	110	SC	CFS	20	20	400	0	0	Draw of	0	3
647	NAGAR) WITHIN 5KM FROM SARAIPALI BYPASS JUNCTION ON NH 53 ON EITHER SIDE WHILE MOVING	MAHASAMUND	REGULAR	160	OBC	DC	35	45	1575	25	75	Lots Draw of Lots	15	4
648	TOWARDS SOHELA  Between Km. stone 227 and Km. stone 225 on LHS on NH 53 while moving towards Saraipali	MAHASAMUND	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
649	Within 2 KM from Ravindra Nath Tagor Chowk towards Bilaspur Railway Station on either side of Road	BILASPUR	REGULAR	120	OPEN CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
650		RAIPUR	REGULAR	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
651	HIRAPUR ON RING ROAD 2	RAIPUR	REGULAR	180	ST CC 1	CFS	20	20	400	0	0	Draw of	0	3
652	towards Bilaspur on Either Side of Sipat- Bilaspur	BILASPUR	REGULAR	155	OPEN	DC	35	45	1575	25	75	Lots Draw of Lots	15	5
653	Road Within 4 KM from Chhattisgarh Gramin Bank at Bhaisma towards Hati on either side of Urga - Hati Road	KORBA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
654	Birkoni industrial area	MAHASAMUND	REGULAR	155	OBC	DC	20	20	400	25	45	Draw of	15	4
655	Between Kabir chowk and chatamuda chowk,	RAIGARH	REGULAR	200	ST	CFS	20	20	400	0	0	Lots Draw of	0	3
656	Raigarh, within municipal limits Imlipara Main Road, Bilaspur WML	BILASPUR	REGULAR	150	OPEN	DC	20	20	400	25	45	Lots Draw of	15	5
657	Within 5 Km from Balodabazar bypass junction on Lawan road on LHS of NH 130B(old	BALODA BAZAR	REGULAR	220	OPEN	DC	35	35	1225	25	75	Lots Draw of Lots	15	5
658	SH9)towards lawan within 3km from dondilohara police station	BALOD	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of	15	4
659	towards rajnandgaon on either side of SH-5 Within 2 KM from Majhwani Post Office towards Ratanpur on LHS on Ratanpur - Keonchi Highway	BILASPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots Draw of Lots	15	5
660	Between Gandhi chowk and Bilaspur Chowk,	SURGUJA	REGULAR	300	ST	CFS	20	20	400	0	0	Draw of	0	3
661	Ambikapur, within municipal limit	BILASPUR	REGULAR	110	OPEN	DC	20	20	400	25	45	Lots Draw of	15	5
	either side of the Mangla road, Bilaspur WML											Lots		
662	Within 2kms from subhas chowk towards Sohela on SH 13 on either side	RAIGARH	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
663	Within 2 Km from Podi-Uproda Janpad Panchayat Office towards Ambikapur on either side of NH130	KORBA	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
664	Within 2 kms from Adarsh chowk, Patna towards Baikunthpur on either side of the road on NH 43	KORIA	REGULAR	200	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
665	Between Tulja Bhawani Mandir Chowk and Maharishi Chowk on either side of the road, Bilaspur City	BILASPUR	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
666		BILASPUR	REGULAR	160	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
667		SURGUJA	REGULAR	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5

668	On Either Side of Ambikapur - Bilaspur Road,	KORBA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of	15	4
669	Katghora Within Municipal Limits On Either Side of Telephone Exchange Road,	BILASPUR	REGULAR	120	ST	CFS	20	20	400	0	0	Lots Draw of	0	3
670	Bilaspur City WITHIN 4 KM FROM AMBEDKAR CHOWK AT	DHAMTARI	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots Draw of	15	5
	DHAMTARI TOWARDS KANKER ON EITHER SIDE OF NH-30											Lots		
671	Within 5 KM from Khandoba Mandir, Ratanpur towards Bilaspur on Either Side of NH130 (old SH- 2)	BILASPUR	REGULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
672	Between charoda chowk to kumhari chowk towards Raipur on NH53 on LHS	DURG	REGULAR	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
Sl. No	Name of location	Revenue District	Type of RO	Estimate d	Category	Type of	Minimun M.)/Area	n Dimensi of the site			e to be	Mode of Selection	Fixed Fee /	Security Deposit
1	2	3	4	monthly Sales Potential #	6	Site*	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	M.). *			licant	10	Minimum Bid amount (Rs. Lakhs)	(Rs. Lakhs)
			Regular / Rural	MS+HSD in Kls	SC, SC CC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC- 1, OPEN CC-2, OPEN PH	CC / DC / CFS	Front age	Dep th	Are a	Estimate d working capital requirem ent for operation of RO (Rs in Lakhs)	Estimated fund required for developm ent of infrastruct ure at RO (Rs in Lakhs)	Draw of Lots / Bidding		
673	Within 2 KM from Kothari Chowk towards Champa on either side of Korba - Champa Road	KORBA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
674	WITHIN 3 KM ,FROM GOVERNMENT HIGH SCHOOL AT KOSRANGI, TOWARDS KHARORA ON SH20 , ON EITHER SIDE	RAIPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
675	Within 3 KM from RTO office of Bilaspur towards Seepat on either side of Bilaspur - Seepat Road	BILASPUR	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
676	BETWEEN KM STONE 239 AND KM STONE 241 FROM MAHASAMUND TO RAIPUR ON LHS,ON NH53	RAIPUR	REGULAR	250	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
677	BETWEEN KM STONE 4 AND KM STONE 8 FROM ABHANPUR TO RAJIM ON NH 130C	RAIPUR	REGULAR	185	ST PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
678	RUABANDHA, TALAPURI ROAD BHILAI WITHIN MUNICIPAL LIMIT	DURG	REGULAR	160	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
679		BILASPUR	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
680	Within 2 KM from Pasan Bus Stop towards Pendra on either side of SH4	BILASPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
681		KORBA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
682	Within 5 Kms from Mungeli collector office main gate, on either side of NH 130A towards Bilaspur	MUNGELI	REGULAR	185	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
683	WITHIN 2 KMS FROM MAHARAJA CHOWK TOWARDS PULGAON CHOWK on either side, Durg within municipal limit	DURG	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
684	Mahasamund-Within municipal limits	MAHASAMUND	REGULAR	170	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
685	RAWABHATA, ON RAIPUR BILASPUR ROAD, RAIPUR WML	RAIPUR	REGULAR	230	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
686	Within 2 KM from Nagar Panchayat Office of Baloda Towards Urga on Either Side of Bilaspur - Urga Road	JANJGIR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
687	Within 5 Kms from Nawagaon on NH53 on LHS while moving towards Chilpawan	MAHASAMUND	REGULAR	155	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
688		KORIA	REGULAR	230	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
689	Within 5 Kms from Khartora on NH 130B on either side while moving towards Balodabazar	BALODA BAZAR	REGULAR	150	OPEN CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
690	within 2km from rokel towards sukma on either side of NH-30	SUKMA	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
691	within 2km from penta towards konta on ether side of NH-30	SUKMA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
692	WITHIN 2KM FROM KANKER BYPASS AND SH-6 JUNCTION TOWARDS JAGDALPUR ON KANKER BYPASS ON EITHER SIDE	KANKER	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
693		RAIPUR	REGULAR	350	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
694	Within 2 kms from Setganga Police station towards Mungeli on NH 130A ON EITHER SIDE	MUNGELI	REGULAR	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
695	Within 2 kms from Jai Stambh chowk kunkuri on either side of Jashpur-Patthalgaon road on NH 43	JASHPUR	REGULAR	170	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

696	WITHIN 2 KM FROM THELKA CHOWK TOWARDS KHAIRAGARH ON DHAMDHA-KHAIRAGARH ROAD	DURG	REGULAR	105	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
697	Between KM stone no. 31 and KM Stone no. 33 on either side of the road on NH 153	RAIGARH	REGULAR	200	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
698	Between KM stone no. 82 and KM stone No. 84 on either side of the road on NH 343	BALRAMPUR	REGULAR	160	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
699	within 1 km from Bharat mata chowk towards Raghunathpur, Ambikapur, WML ON EITHER SIDE	SURGUJA	REGULAR	200	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
700	Between Nagar nigam office and Nagar nigam park on main road, Chirmiri, within city limits	KORIA	REGULAR	200	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*	M.)/Area	I n Dimensi of the site M.). *		arrange app	ce to be ed by the dicant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakhs)	Security Deposit (Rs. Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC, SC CC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC- 1, OPEN CC-2, OPEN PH	CC / DC / CFS	Front age	Dep th	Are a	Estimate d working capital requirem ent for operation of RO (Rs in Lakhs)	fund required for developm ent of	Draw of Lots / Bidding		
701	Between Km. stone no. 66 and Km. stone no. 68 on NH 130 on either side of new Limtara bypass road	BALODA BAZAR	REGULAR	160	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5
702	Within 4 km from FCI godown dewarbhat towards Gurur on either side of NH-930	BALOD	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
703	WITHIN 1 KM FROM GREEN CHOWK FLYOVER TOWARDS DHAMDHA, DURG	DURG	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
704	Mungeli-Within Municipal Limits	MUNGELI	REGULAR	180	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
705	Within 5 Km from Bhatgaon Post office while going towards Pauni on NH 130B(old SH 13) on either side	BALODA BAZAR	REGULAR	175	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
706	Kasdol-Within Municipal limits	BALODA BAZAR	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
707	Between Km stone 160 and Km stone 158 on LHS on NH 53 while moving towards Saraipali	MAHASAMUND	REGULAR	195	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
708	Between Km. stone 90 and Km. stone 88 on NH 130 on LHS while moving towards Raipur	MUNGELI	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
709	Bemetara-Within municipal limits	BEMETARA	REGULAR	180	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
710	WITHIN 2KM FROM DPS SCHOOL, DHAMTARI TOWARDS RAIPUR ON EITHER SIDE OF NH-30	DHAMTARI	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
711	within 2km from Shaskiya purva madhyamik shala,dagania towards Balod on SH-7 on either side	BALOD	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
712	WITHIN 3KM, FROM GURUDWARA AT PHARASGAON, TOWARDS RAIPUR ON EITHER SIDE OF NH-30	KONDAGAON	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
713	Between 1 km from Larang sai chowk towards Balrampur, Ramanujganj, within municipal limits	BALRAMPUR	REGULAR	140	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
714	Within 2 km from SP Office at Balrampur towards Ramanujganj on either side	BALRAMPUR	REGULAR	170	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
715	Within 2 KM from Indermani Coal Washery Gate towards Pali on Bilaspur - Ambikapur Road on LHS	BILASPUR	REGULAR	190	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
716	SHEJBAHAR ON OLD DHAMTARI	RAIPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
717	BETWEEN KM STONE 235 AND KM STONE 232 FROM RAIPUR TO MAHASAMUND ON LHS,ON NH53	RAIPUR	REGULAR	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
718	NAWAPARA TOWN	RAIPUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
719	BETWEEN KM STONE 14 AND KM STONE 16 ON NIMORA BYPASS ON LHS	RAIPUR	REGULAR	190	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
720	BETWEEN KM STONE 28 AND KM STONE 32 FROM DHAMTARI TO RAIPUR ON LHS, ON NH-30	RAIPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
721	WITHIN 3 KM FROM, JUNCTION OF NH30 AND NH 130C, TOWARDS DHAMTARI, ON NH30 ON EITHER SIDE	RAIPUR	REGULAR	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
722	BETWEEN KM STONE 21 AND KM STONE 25, FROM ABHANPUR TO RAIPUR ON LHS, ON NH30	RAIPUR	REGULAR	170	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
723	RAMNAGAR, RAIPUR CITY	RAIPUR	REGULAR	170	OPEN	DC	20	20	400	25	60	Draw of	15	5

BETWEEN KM STONE 10 AND KM STONE 14, FROM RAIPUR TO ABHANPUR ON LHS, ON NH30	RAIPUR	REGULAR	190	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
SANTOSHI NAGAR, RAIPUR CITY	RAIPUR	REGULAR	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
BETWEEN KM STONE 17 AND KMS STONE 20, FROM RAIPUR TO ABHANPUR ON LHS, ON NH 30	RAIPUR	REGULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
•	RAIPUR	REGULAR	230	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
Between KM stone no. 410 and KM Stone No.	SURGUJA	REGULAR	170	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
	RAIPUR	REGULAR	130	OPEN	DC	20	20	400	25	45	Draw of	15	5
Within 2 kms from Udaipur bus stand towards Ambikapur on LHS on NH 130	SURGUJA	REGULAR	220	OPEN	DC	35	35	1225	25	75	Draw of	15	5
Name of location	Revenue District	Type of RO	Estimate d	Category	Type of						Mode of	Fixed Fee /	Security Deposit
			monthly		Site*				_			Minimum	(Rs. Lakhs)
			Potential #									amount (Rs.	·
2	3	4	5	6	7		8		9a	9b	10	Lakhs)	12
		Regular /	MS+HSD	SC, SC CC-1, SC	CC/	Front	Dep	Are	Estimate		Draw of		
		Rural	in Kis	ST PH, OBC, OBC	-	age	th	а					
									capital	for			
				1, OPEN CC-2,					requirem	developm			
				OPEN PH									
									of RO	ure at RO			
									(Rs in	(Rs in			
									Lakhs)	Lakhs)			
From KM stone no. 43 to KM stone no. 46 on either side of the road on NH 153	RAIGARH	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
Within 2 km from CG Rajya Gramin bank towards Dharamjaigarh, on either side of the road on SH 1	RAIGARH	REGULAR	133	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
Within 3 Kms, from Government rest house main gate at Suarmar, on NH 353 on LHS towards Khariar	MAHASAMUND	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
	RAIGARH	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
	JASHPUR	REGULAR	310	ST	CFS	20	20	400	0	0	Draw of	0	3
	KORIA	REGULAR	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	RAIGARH	REGULAR	185	OPEN	СС	35	45	1575	25	10	Bidding	30	5
Between Km Stone No. 400 and KM stone no.	JASHPUR	REGULAR	250	OPEN CC 1	DC	35	45	1575	25	75	Draw of	15	5
From Khedia Talkies to PWD chowraha on main	KORIA	REGULAR	210	OBC	DC	20	20	400	25	45	Draw of	15	4
Within 2 kms from Government High School at Pipariya towards Baikunthpur on NH 43	KORIA	REGULAR	200	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
Within 2 KM from Manpur Chowk near Dalli- Rajarah towards Manpur on NH-930 ON EITHER SIDE	BALOD	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
WITHIN 3KM FROM POST OFFICE AT TOKAPAL TOWARDS GEEDAM ON NH-63 on either side	BASTAR	REGULAR	220	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
NAWAPARA,ON NAWAPARA-KURUD ROAD	RAIPUR	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
Between collectorate chowk to greenchowk via agrsen chowk on either side Durg withinmunicipallimit	DURG	REGULAR	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
	BILASPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
		REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
		REGULAR	190	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
TOWARDS RAIPUR on either side		REGULAR	250	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
		REGULAR	150	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
JUNCTION, RAIPUR WML		REGULAR	160	OPEN CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
WITHIN 3KM FROM GOVENMENT HIGH SCHOOL AT DHURWAGUDI TOWARDS DEOBHOG ON NH- 130C ON EITHER SIDE	GARIABAND	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
	BALRAMPUR	REGULAR	180	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
WITHIN 3KM FROM GOVERNMENT MIDDLE SCHOOL AT DHURWAGUDI TOWARDS GARIABAND ON EITHER SIDE OF NH-130C	GARIABAND	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	FROM RAIPUR TO ABHANPUR ON LHS, ON NH30  SANTOSHI NAGAR, RAIPUR CITY  BETWEEN KM STONE 17 AND KMS STONE 20, FROM RAIPUR TO ABHANPUR ON LHS, ON NH 30  BETWEEN KM STONE 7 AND KM STONE 10, ON NEW BYPASS TATIBANDH TO DHANELI.  Between KM stone no. 410 and KM Stone No. 412 on NH 43  VILLAGE TULSI ON RING ROAD 3  Within 2 kms from Udaipur bus stand towards Ambikapur on LHS on NH 130  Name of location  Name of location  Name of location  Within 3 Kms, from Government rest house main gate at Suarmar, on NH 353 on LHS towards Khariar  Within 5 KMs from Durga Mandir at Baysi colony towards Dharamjaigarh on either side on NH 130A  Between Maharaja chowk and SPS judev stadium, Jashpur nagar, within city limits Within 3 KMs from Post Office at Ranai towards Surajpur on either side of the road on NH 43  Between Dhimrapur chowk and Jindai plant on either side of road on NH 43  Between Dhimrapur chowk and Jindai plant on either side of road on NH 49  Between Them Stone No. 400 and KM stone no. 405 on either side of road on NH 49  Between Km Stone No. 400 and KM stone no. 405 on either side of road on NH 49  Between Km Stone No. 400 nh 49  Between Stone No. 400 nh 49  Between Km Stone No. 400 and km stone no. 405 on either side of road on NH 43  Within 2 kms from Government High School at Pipariya towards Baikunthpur on NH 43  Within 2 km from Manpur Chowk near Dalli-Rajarah towards Manpur on NH-930 ON EITHER SIDE  WITHIN 3KM FROM POST OFFICE AT TOKAPAL TOWARDS GEEDAM ON NH-63 on either side  NAWAPARA,ON NAWAPARA-KURUD ROAD  Between collectorate chowk to greenchowk via agreen chlowk on either side Durg withinmunicipallimit  Gaurav Path, Bilaspur WML  URLA,RAIPUR WML  GONDWARA,RAIPUR CITY  WITH 3 KM FROM RASANI TOLL ON NH 53  TOWARDS RAIPUR WML  BETWEEN GOL CHOWK AND NIT  JUNCTION,RAIPUR ON HE	FROM RAIPUR TO ABHANPUR ON LHS, ON NH30  SANTOSHI NAGAR, RAIPUR CITY  RAIPUR  BETWEEN KM STONE 17 AND KMS STONE 20, FROM RAIPUR TO ABHANPUR ON LHS, ON NH 30  BETWEEN KM STONE 7 AND KM STONE 10, ON NEW BYPASS TATIBANDH TO DHANELL.  BETWEEN KM STONE 7 AND KM STONE 10, ON ARIPUR STONE 10, ON NEW BYPASS TATIBANDH TO DHANELL.  SERVEWEN KM STONE 10 AND KM STONE 10, ON ARIPUR STONE 10, ON NH 43  VILLAGE TULSI ON RING ROAD 3  WIRTIN 2 KMS from Udaipur bus stand towards Anabikapur on LHS on NH 130  Name of location  Revenue District  2 3  3  FROM KM stone no. 43 to KM stone no. 46 on either side of the road on NH 153  Within 2 km from GG Rajlya Gramin bank towards Dharamjaigarh, on either side of the road on SH 1  Within 3 Kms, from Government rest house main gate at Suarmar, on NH 353 on LHS towards Khariar  Within 5 km from Durga Mandir at Baysi colony towards Dharamjaigarh on either side on NH 130A  Between Maharaja chowk and SPS judev stadium, Jashpur nagar, within city limits  Within 3 KMS from Post Office at Ranai towards Surajpur on either side of the road on NH 43  Between Dhimrapur chowk and SPS judev stadium, Jashpur nagar, within city limits  Within 2 km from Gorenment thips School at Planting Sharing	FROM RAIPUR TO ABHANPUR ON LHS, ON NH30  SANTOSHI NAGAR, RAIPUR CITY  REGULAR  BETWEEN KM STONE 17 AND KMS STONE 20, RAIPUR  REGULAR  REGU	FROM RAPPUR TO ABHANPUR ON LHS, ON NH30  BETWEEN KM STONE 17 AND KM STONE 20, SANTOSH MAGAR, RAPPUR TO ABHANPUR ON LHS, ON NH 30  BETWEEN KM STONE 7 AND KM STONE 20, ON NH 30  BETWEEN KM STONE 7 AND KM STONE 20, ON NH 30  BETWEEN KM STONE 7 AND KM STONE 10, ON NH 30  BETWEEN KM STONE 7 AND KM STONE 10, ON NH 30  BETWEEN KM STONE 7 AND KM STONE 10, ON NH 30  BETWEEN KM STONE 7 AND KM STONE 10, ON NH 30  BETWEEN KM STONE 7 AND KM STONE 10, ON NH 30  BETWEEN KM STONE 7 AND KM STONE 10, ON NH 30  BETWEEN KM STONE 7 AND KM STONE 10, ON NH 30  BETWEEN KM STONE 7 AND KM STONE 10, ON NH 30  BETWEEN KM STONE 7 AND KM STONE 10, ON NH 30  WITHIN 2 KM FROM 143  WITHIN 2 KM FROM 1430  WITHIN 2 KM FROM 1430  WITHIN 2 KM FROM 1430  REGULAR 130  REGULAR 130  REGULAR 130  REGULAR 150  MSHB 2 MSH	REMM RAPUR TO ABHANPUR ON LIS, ON NH30	RECOMBANISTOR AND PROTECTION OF THE PROPERTY OF THE PROTECTION OF	SAMPTOSH MAGAR, RAPUR CITY   SAMPUR   REGULAR   150   OBC   DC   20	SAMPTOSH MACAR, INAPPUR CTY	PRIORED PRINTED GRAMPHUR CITY	PRIORE MARPINE DISTRICT   PRIORE   PR	Package   Pack	MINISTER   MINISTER	Part   Part

754	Within 2 KM from Radhika Water Park at Bhunda towards Bilaspur on either side of SH8	BILASPUR	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
755	WITHIN 2 KM FROM RAIPURA CHOWK TOWARDS SARONA,RAIPUR WML ON EITHER SIDE	RAIPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
756	Between Km stone 8 and Km stone 11 on NH 153 while moving towards Raigarh	MAHASAMUND	REGULAR	185	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
757	Within 2 kms from Mungeli Bus stand on Nawagarh road on SH 7 on either side	MUNGELI	REGULAR	108	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
758		DURG	REGULAR	175	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
759	Within 2 kms from Baiga Tourist resort on NH 30 on either side while moving towards Mandla	KAWARDHA	REGULAR	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
760	From Bilaspur chowk to Kharsiya chowk on Ring Road, Ambikapur, WML ON EITHER SIDE	SURGUJA	REGULAR	300	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*	M.)/Area	M.). *		arrange app	e to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakhs)	Security Deposit (Rs. Lakhs)
1	2	3	4 Regular / Rural	MS+HSD in KIs	6 SC, SC CC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC- 1, OPEN CC-2, OPEN PH	7 CC / DC / CFS	Front age	Dep th	Are a	9a Estimate d working capital requirem ent for operation of RO (Rs in Lakhs)	9b Estimated fund required for developm ent of infrastruct ure at RO (Rs in Lakhs)	Draw of Lots / Bidding	11	12
761	Between Maurya Talkies chowk to power house chowk towards Raipur on NH53 on LHS	DURG	REGULAR	180	OBC	СС	35	45	1575	25	10	Bidding	30	4
762	Between Maurya Talkies chowk to power house	DURG	REGULAR	210	ST	CFS	35	45	1575	0	0	Draw of	0	3
763	chowk towards Durg on NH53 on LHS PANDARI, RAIPUR CITY	RAIPUR	REGULAR	170	OPEN	DC	20	20	400	25	60	Lots Draw of	15	5
764	On either side of Mission Road, Champa City	JANJGIR	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Lots Draw of	15	5
765	Between KM Stone no. 86 and 88 on either side	BILASPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Lots Draw of	15	4
766	of NH130A BETWEEN KM STONE NO. 29 AND KM STONE NO.	RAIGARH	REGULAR	230	SC	CFS	35	45	1575	0	0	Lots Draw of	0	3
767	31 ON NH 153 ON EITHER SIDE within 3km from makdi chowk towards jagdalpur on either side of Kanker Bypass road	KANKER	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots Draw of Lots	15	5
768	BETWEEN KM STONE NO. 250 AND KM STONE	KORIA	REGULAR	220	OPEN	DC	35	45	1575	25	75	Draw of	15	5
769	NO. 253 ON NH43 BETWEEN MILESTONE NO. 26 TO MILESTONE NO. 32 ON EITHER SIDE OF NH-130C	GARIABAND	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
770	Between junwani chowk to DPS main gate on either side, Bhilai within municipal limit	DURG	REGULAR	210	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
771	SECTOR-17,NAYA RAIPUR (ATAL NAGAR)	RAIPUR	REGULAR	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
772	DEVENDRA NAGAR, RAIPUR WML	RAIPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
773	Within 5 Kms from Gandhi chowk at Palari on NH 130B on either side while moving towards Balodabazar	BALODA BAZAR	REGULAR	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
774	WITHIN 5 KM FROM BASTAR POLICE STAION TOWARDS JAGDALPUR ON NH-30 on either side	BASTAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
775	Between KM Stone No. 30 and KM Stone No.32 on either side of New Bilaspur-Raigarh Bypass	BILASPUR	REGULAR	150	ST PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
776	Between KM stone No. 41 and KM stone no. 43	BALRAMPUR	REGULAR	150	OBC PH	DC	35	45	1575	25	75	Draw of	15	4
777	BETWEEN KM STONE 14 AND KM STONE 17 FROM RAIPUR TO ABHANPUR, on NH 30 Shankar nagar square to bhagat singh chowk on	RAIPUR RAIPUR	REGULAR	200	OPEN OPEN	DC DC	35 20	45 20	1575 400	25 25	75 60	Draw of Lots Draw of	15 15	5
770	LHS, Raipur city	DURC	DECI.: 42	100	000	F.	20	20	400	25	45	Lots	45	
779	Between Green chowk to Rajendra chowk Durg within municipal limit	DURG	REGULAR	180	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
780	Within 2 KM from Forest Office at Sutarra towards Bilaspur on either side of Bilaspur - Katghora Road	KORBA	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

704	Instruction of the same was stone of the	In AURUUR I	DECLUAR	220	00511		25	45	4575	25	1 75	S	45	
781	BETWEEN KM STONE 3 AND KM STONE 5, ON NEW BYPASS TATIBANDH TO DHANELI	RAIPUR	REGULAR	230	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
782	Within 2 KM from Bus Stop at Nonbirra Towards Urga on Either Side of Urga-Hati Road	KORBA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
783	Within 5 KM from Bilha Mod towards Raipur on NH130 on LHS	BILASPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
784	WITHIN 3 KM FROM RAJAGAON TOWARDS JAGDALPUR ON EITHER SIDE OF NH-30	KONDAGAON	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
785	BETWEEN KM STONE NO. 443 AND KM STONE	SURGUJA	REGULAR	230	OPEN	DC	35	45	1575	25	75	Draw of	15	5
786	NO. 441 ON LHS ON NH43 BETWEEN KM STONE 30 AND KM STONE 33 ON	RAIPUR	REGULAR	190	OPEN	DC	35	35	1225	25	75	Lots Draw of	15	5
787	NH-130B ON LHS WHILE MOVING TOWARDS BALODABAZAR Within 4 km from Abhanpur junction towards	RAIPUR	REGULAR	160	OPEN	DC	35	35	1225	25	75	Lots Draw of	15	5
	Rajim on NH 130C ON EITHER SIDE											Lots		
788	Within 3 Kms from Police Thana Chandora towards Wadraffnagar on LHS on Ambikapur- Banaras SH	SURAJPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*	M.)/Area	n Dimensi of the site M.). *		arrange	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs.	Security Deposit (Rs. Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	Lakhs) 11	12
			Regular / Rural	MS+HSD in Kls	SC, SC CC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC- 1, OPEN CC-2, OPEN PH	CC / DC / CFS	Front age	Dep th	Are a	Estimate d working capital requirem ent for operation of RO (Rs in Lakhs)	fund required for developm ent of	Draw of Lots / Bidding		
789	between milestone no. 48 and milestone no. 52 on either side of Sh-25	KANKER	REGULAR	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
790	Between dabrapara chowk to transportnagar chowk on either side, Bhilai within municipal limit	DURG	REGULAR	230	OPEN CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
791	Between azad market chowk to BSNL colony main gate on either side, Bhilai within municipal limit	DURG	REGULAR	170	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
792	Within 2 KM from Bhadri Chowk Towards Sakti on Either Side of Sakti -Raigarh Road	JANJGIR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
793		DURG	REGULAR	170	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
794	BETWEEN MEDICAL COLLEGE AND KESHLUR CHOWK ON NH-30	BASTAR	REGULAR	220	OPEN	DC	35	45	1575	25	75	Draw of	15	5
795	Between DPS maroda chowk to maroda fly over	DURG	REGULAR	160	OBC	DC	20	20	400	25	45	Draw of	15	4
796	on either side. Bhilai within municipal limit WITHIN 3 KM FROM CHAMPARAN CHOWK ON	RAIPUR	REGULAR	160	OPEN	DC	35	35	1225	25	60	Lots Draw of	15	5
	SH20 TOWARDS CHAMPARAN ON EITHER SIDE											Lots		
797	Within 5 Kms from Parsabhadar towards Bhatapara on SH 10	BALODA BAZAR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	3
798	Between malviya nagar to jila jail chowk on either side, Durg within municipal limit	DURG	REGULAR	180	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
799	Between ganpara chowk to minimata chowk on either side, Durg within municipal limit	DURG	REGULAR	190	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
800	Between KM Stone No. 32 and KM stone no. 30 on LHS on SH 4	JASHPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
801	Between gandhi chownk to jail tiraha chowk on either side, Durg within municipal limit	DURG	REGULAR	150	OPEN PH	DC	20	20	400	25	45	Draw of Lots	15	5
802	Between azad market chowk to panitanki chowk Resali on either side, Bhilai within municipal limit	DURG	REGULAR	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
803	Between collectorate chowk to Ganjpaara chowk Durg within Municipal limit	DURG	REGULAR	180	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
804	Within 2km from Konari chowk towards Durg on	DURG	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of	15	5
805	either side on SH7 Within 2 kms from Government Hospital at Hati towards Kudmura on either side of the road on	RAIGARH	REGULAR	180	OBC	DC	35	45	1575	25	75	Lots Draw of Lots	15	4
806	NH 130A Within 5 Kms from Government Hospital at Hati towards Dharamjaigarh on LHS on NH 130A	RAIGARH	REGULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
807	Between KM stone No. 15 and KM Stone No. 17 on either side of the road on SH 13	RAIGARH	REGULAR	200	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
					i							-50	15	5

809	Within 2 KM from Pandaria Bus Stand towards Kuktoor	KAWARDHA	REGULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
810	Within 3 kms from AIIT college at Gharghoda towards Raigarh on either side of the road on SH 1	RAIGARH	REGULAR	157	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
811	Within 2 km from Chatamuda chowk towards Odisha on either side of the road on NH49	RAIGARH	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
812	WITHIN 2KM FROM MINIMATA CHOWK PULGAON CHOWK TOWARDS BALOD ON EITHER SIDE ON SH	DURG	REGULAR	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
813	Between Km stone No. 269 and KM stone No. 267 on LHS on NH 49	RAIGARH	REGULAR	230	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
814	Between KM Stone No. 275 and KM stone No. 277 on either side of the road on NH 49	RAIGARH	REGULAR	230	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
815	Between KM Stone No. 273 and KM Stone No.	RAIGARH	REGULAR	330	SC	CFS	35	45	1575	0	0	Draw of	0	3
816	275 on either side of the road on NH 49 Within 3 KM from Tehsil Office of Pamgarh	JANJGIR	REGULAR	130	OPEN	DC	35	35	1225	25	60	Lots Draw of	15	5
	towards Bilaspur on either side of Pamgarh- Bilaspur Road											Lots		
SI. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	of Site*	M.)/Area	M.). *		arrange app	e to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakhs)	Deposit (Rs. Lakhs)
1	2	3	4 Regular / Rural	5 MS+HSD in KIs	6 SC, SCC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC- 1, OPEN CC-2, OPEN PH	7 CC / DC / CFS	Front age	8 Dep th	Are a	9a Estimate d working capital requirem ent for operation of RO (Rs in Lakhs)	9b Estimated fund required for developm ent of infrastruct ure at RO (Rs in Lakhs)	Draw of Lots / Bidding	11	12
817	Between KM stone no. 40 and KM stone No. 42	RAIGARH	REGULAR	180	OBC	DC	35	45	1575	25	75	Draw of	15	4
818	on either side of the road on NH 43 Within 2 kms from Bus stop Pussore towards on sariya road on either side of the road on SH 16	RAIGARH	REGULAR	100	OPEN	DC	35	35	1225	25	60	Lots Draw of Lots	15	5
819	Between km. stone 4 and Km. stone 6 on SH 21	DURG	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of	15	5
820	on either side  Between KM stone no. 35 and KM Stone no. 37	RAIGARH	REGULAR	180	SC	CFS	35	45	1575	0	0	Lots Draw of	0	3
821	on either side of the road on NH 153 Within 3 Kms from Korba West Power Limited towards Sarangarh on either side of the road on NH 153	RAIGARH	REGULAR	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
822	Renga kathera on Jalbandha-Khairagargh Road, Tehsil- Dongargarh, Dist- Rajnandgaon	RAJNANDGAON	REGULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
823	Between KM Stone No. 35 and KM stone No. 37 on Ambikapur - Bhaisamuda Road ON EITHER SIDE	SURAJPUR	REGULAR	340	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
824	Between KM Stone No. 70 and KM stone no. 75 on either side of the road on NH 343	BALRAMPUR	REGULAR	200	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
825	Within 3 Kms, from Kodwa-Saja Junction on SH 7, while moving towards Bemetara	BEMETARA	REGULAR	145	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
826	VILLAGE MADAN NAGAR ON PRATAPPUR- AMBIKAPUR ON SH 2	SURAJPUR	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
827	Between Ghadi Chowk Baikunthpur to SBI Branch Baikunthpur	KORIA	REGULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
828	WITHIN 3 KM FROM TILDA RAILWAY STN TOWARDS SIMGA ON SH 20	RAIPUR	REGULAR	170	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
829	BETWEEN MILESTNE NO. 52 AND MILESTONE NO. 55 ON EITHER SIDE OF SH-23	DHAMTARI	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
830	Between KM Stone No. 269 and KM stone no.	RAIGARH	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of	15	5
831	274 on NH 49 ON EITHER SIDE between milestone no. 38 and milestone no.41, on LHS while moving from Dhamtari to Raipur on NH-30	DHAMTARI	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
832	Between sonpur gram panchayat bhavan to tarighat river bridge on either side on SH22	DURG	REGULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
833	WITH 2KM FROM MAIN CHOWK GANDAI	RAJNANDGAON	REGULAR	170	ST	CFS	35	35	1225	0	0	Draw of	0	3
834	TOWARDS DURG ON EITHER SIDE ON SH-7 BETWEEN KM STONE 29 AND KM STONE 32 ON	RAIPUR	REGULAR	185	OPEN	DC	35	45	1575	25	75	Lots Draw of	15	5
835	DEORI BY PASS ROAD Within 5 KM from Major Dhyanchand Chowk towards Katghora on Korba-Katghroa Road on either side	KORBA	REGULAR	250	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
836	Within 2 KM from Darrighat towards Bilaspur on either side of New Bypass Road (NH49)	BILASPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

Full forms of abbreviations mentioned in the name of locations are as follows:- LHS = left hand side, WML = within municipal limit, Km/kms = kilometre/kilometres, SH = state highway, NH = National highway, MDR = major district road, Rd = road, Btn = between, Vil = village, Dist = District, Teh = Tehsil, & = and, KM stone = Kilometre stone / Milestone, Stn = Station, AB road = Agra Bombay road

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (www.bharatpetroleum.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 12/01/2019

Type of RO	Type of Site	Category	Applic ation fee in Rs.	Type of RO	Type of Site	Catego ry	Applic ation fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000	RURAL	CC	OBC	4000
REGULAR ROS	CC	OPEN	10000	ROS	CC	OPEN	8000
	DC	OBC	5000	NOS	DC	OBC	4000
	DC	OPEN	10000		DC	OPEN	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

TERRITO RY	DISTRICTS COVERED	ADDRESS	CONTACT NO.
RAIPUR	ALL DISTRICTS IN CHATTISGARH STATE	TERRITORY OFFICE, SHAHEED VEER NARAIN COMPLEX, 1ST FLR, OPP. COLLECTORATE, NEAR NAGAR GHADI CHOWK, RAIPUR - 492001	0771 - 2237503 / 2237507, 9098497380

<sup>\*</sup> The site should either be Owned or on lease with applicant for minimum period of 19 years and 11 months or Applicant should have firm offer for the same.